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PO $100[BEO H $10,000
BOST $500[ O $10,000
FO& $5.000{ =0+ $470
RO $1,000)ZEOF $10,000
A OFEEAE $3,500[# O 58 $10,000
O $1.000[Z& 5118 A $2,000
FEOTE $1,0001 77O $10,000
O $1.000[=OH $10,000
#O $1,000| 5 O%% $10,000
fit O%F $5.000) &5 O Ht $10,000
BO#E $5,000{%=O $10,000
gOE $10,000FE O $500
H#HO H $10,000[AKO= $500
PROZCE $5.400[=O%E $1,000
ROFy $5.000) B OFR $1,000
AROE $5.000EEO & $1,000
RO $10,000|fO%E $2,000
PROZIAE $10,000|5= Ol $100
FEOH $10,000EEOFF $10,000
MO $1.000[FOE $1,000
RO $1.000) O $250
HEOH $10,000|= O $100
2O $10,000) = OFF $20,000
HOF $1,000|FO=E $200,000
PROE $10,000);HO%E $1,000
RO S $10,000] & OB $100
BOH $2,000|8OE $100
ROZE $10,000|BEROTE $100
15 OBl $20,000| 210 H $10,000
A OF $10,000| i O $100
i OFEER $10,000[F=OF $1,000
R REY $200,000|F# O $1,000
RO $1,000|F O $250
RO $1,000| FOFEE $2,000
BHORE $6,890]| 52 Ot $300
BHO% $500,000(#F O $5,000
ZOR $2,000) B O 7 $500
EO $500F O %k $500
HOH $50,000E O $100
FO.0 $2,000|EO# $1,200
#O $1,000|5=ORB $1,200
BROEAE $10,000[EHOFT $100
QL= $10,000{ &= O (#7) $200
BRO $10,000/ O E {0 $10,000
BHO M $10,000|FO¥= $2,000
BROHL $10,000[5FO $1,000
ZOW $2,000]5TO $1,000
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MOF $5.000|EOF& $100
EOL $1,000,000|FEOF $100
BRO1E $500)HE O $500
ROE $10,000)5ROF& $300
EOE $10,000) 7RO #E $400
AEOE $250|5=0 $300
HEOFE $1,000{ kO $100
EAOLEES $100[E=OL $100
ZOR $100[B1OA $100
fi OF $100|E=ORE $100
TOZEZE $1,200[EO#5 $1,000
O3 $600[ZFO % $1,000
PROE $150[ZF O $1,000
ZOH $100|FO% $1,000
i O $1.000[ZFOZ# $1,000
FOE $250|%2 O $5,000
RO $300[EFO=E: $5.000
ROSHE $300 R Ot $250
SOt $300[HO=82 $250
PO $100[HEOTE $100
EOHE $100[#EOL $100
sHOH $100[s0O= $100
B O] (#0) $200|53O%) $100
O $1,000| % O $100
BROH $100[ 2 OB $100
BROBY $100| 8 O $100
TOHk $150[FROFE $100
BROZE $150[=O#h $100
BROZ $150[EB O $300
BROH $250|HOEE $300
BROFH $100[ET O $100
BROE $100[ETOfE $100
FOH $100[tO+F- $100
AEOFEH $250|EHOE $100
fitt O 1 $100[EHO#4 $100
fitt O=L $100[BROFK $100
LO= $100[FROZ $100
O $100|F O $100
g O $100[EB O $100
g O/ $100[BROH $100
2OZ $100[EROf& $100
BOT $100[BROF $100
EHOH $100[FRO2 $100
sHO#E $100[ROE $100
BOE $500f Ot $100
i $8.000)BEO4F $100
BROFE $500[ 52O $500
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BROFE $1,000|FEO& $1,000
ZO% $10,000[FEO = (0D $600
BOST $500[E= OF5 5 $1,000
ORIk $1,000|=0OE $1,000
s O $10,000[#ROH $1,000
SO $1.000|#O% $1,000
HOEE, $10,000|1 PO %E $1,000
= ORE $2,000|#EOFz $1,000
£ZO0OEW) $1,000) AR OF $1,000
ZOEHD $10,000{#EOZ% $100
= OF $1,000|#EO&F $1,000
RO $10,000[/FOE $1,000
2IOtE $10,000|1# O $2,000
O $1,000[#O & $2,000
FOE $1.000|1 PR OFFHL $2,000
PROZE $300[ZF O] $100
Rk $600[ZF Ot $100
TOHS $5.000) 5O $100
MOE $5.000)F Ol $100
FO4 $100,000|E=0#% $1,000
BRORL $1.000|F O $200
HO®E $10,000[5EONH# $200
PROSRIEHD $10,000| = Ot $1,000
EOHE $3.000|121O% $100
BROZ $1,000]BE O $100
BIOH $2,000| PO $100
SOt $600[HO% $200
BHOE $5001 5 OBt $20,000
FO $1,200)| O $1,000
BORKL $7,000| EO$ $1,000
FOE $2,000|FEOs $1,000
S Ot $2,000|BEO#E= $10,000
PO $1,200|=OR $100,000
PO $1.200(#ROBK $10,000
MO $10,000FEOH $10,000
£0 $10,000{FEOEE %k $1,200
AKOB $10,000)5= O & & $1,200
ARORE $10,000)|ZF Ok $10,000
RO $10,000|# O%E $10,000
PROFR $2.000[FHOFd $30,000
PO $2,000)# OFL $30,000
BROE $2,000|# OH $30,000
EOIM $2,000[5R O%d $10,000
+Ouk $3.000(#R O $10,000
HOHI $2,000(#OF $10,000
MO $2,000| Ot $10,000
O $1,000{ZFO $10,000
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BOE $500[#FOE) $1,000
BO%E $500[#FOE) $1,000
BOZ) $500[FEORI $2,000
i OFLE $10,000|EBOA $10,000
#O $1.000 O $1,000
MHOF $200[5TO% $500
BROZE $200[5TO=E $500
MO $200[HOZE $100
MO $200[H Ot $1,200
MHOHE $200| R OF> $100
BO# $10,000| O HEE $200
BOB&T $11,600|BROHE $100
BOB&T $14,097| 04 H $100
BOB&T $35,690|5FOREAE $100
w=OK $10,000|BR OfF $100
HFEHEE $10,000| K FFFR LITREESF $200.,000
RO e $1,000)#H O#E $1,000
#O $2,000| O $600
FORGE) $800[# O $100
FORGE) $800[FEO~F $500
FOEZL $15,000[#£OE $200
O $400[fR OF5 $1,000
H O $200[ZE O & $4.,000
BHOSE $10,000[ O $10,000
MOE $10,000|2E O $250
BO# $1,200) 28 OF% $250
FOH $1,200|2E O $250
TROBN $1,200)2E OF $250
=OT $500[FLO £ R $300
BOEGER $10,000[ O $300
BOHE@HE) $10,000|FEOZ $1,000
EAO® $7,000R0O#2 $1,000
20 $10,000|=O% $10,000
BEOC $1.000[3£0 $10,000
EOHE $7,000)BE O%F $5,000
RO $1,000[ =tk = $2,000
sROEE $10,000]#£ O1E $5,000
0 $10,000| 21O $1,000
O $10,000| O $5,000
BHOA $10,000[EO— $1,000
FOHE $10,000) %0 $6,000
FOE $2,000{# O $1,500
RO $1.000(#rO~F5= $1,500
RO $1.200[&£ O $2,000
HOEE $10,000| B O =% $150,000
LOE $6.000| PO $5,000
BROEETR $600[#5OF5 5 $600
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HEOX $600[#5OE $600
FHEEEYE $2,300| @ OX& $1,000
BEOEHED $120,000[Z2OF5 $1,000
BOR $2,000[#OF $3,000
GO $500[22 O3 $1,000
RO $10,000| O $1,500
RO $10,000{ 52O $2,000
LOSTE $10,000{5F Ot $250
H=OH $5.000|5F O $250
FO® $100|#EOE $1,000
TO $600 |3t O $1,000
RO $1.200{5R O $1,000
EOIR $400[EO5] $100,000
H OB $200[H O $1,000
TOH $600[FR Oz $1,200
TOEE $2,000[Z£ O $100
AROR $600[HFOEZ $1,000
BOE@HE) $10,000[FRO Y $1,000
ffOSE $10,000{ =0+ $500
BO# $50,000[F= Ok $2,000
tROF $1,200| =05+ $10,000
Z O5h $1,200)f OZ $600
=OF $1,200[ OB $100
g O $1,200)EEO~F $500
Ol $1.200[FrOF& $10,000
g OF $1.200|1HFOFEE $1,000
HOE $5,000{FF O $10,000
ZOR $10,000[FEOH ) $20,000
O $10,000|F#H O $10,000
SOk $1,000|#EO &S $1,000
ER Ok $10,000|f O & $500.,000
§TO $1,000)5F O $10,000
BOZE $10,000[5FOR $10,000
BHORE $10,000[FO% $6,000
FO% $10,000 22O $200
H=O$ $5.000Z2OF $200
HEOXL $200[ETOFE $200
SaEER AR E] $100,000[Z2O#2 $200
BOZ= $5.000)5FOF $200
BOZ= $10,000|#% Ot $1,000
BOZE $10,000[#5OF $1,000
TO%E $15,000 O =& $500
PROZLH $15,000[FCOE $500
EORF $5.000[FEEO1# $1,000,000
BOE $5.000)E O $500
HO& $250[¥EOF- $10,000
FEORK $600[FEO/L2#HD $200.,000
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AEOE $1.000)/E O $6,000
EAOLEES $100| O $3,500
HOR $100[ =0T $2,000
fite OF $100| & ILE THEHI = AGE 5 $6,100
FHOLL $1.200) O $1,200
BROE $150[#EOfA $1,000
O $2.400[#ROZE $20,000
s2OFE $1,200|BRO%Hi $500
£0 $100[FEO $300,000
H O $1,000{ZIOBF $700
ZFOHE $250[= O $300
ROE $1,200) &0 $300
RO¥% $300[BBOFE $100
ROSHE $300[BBOHE $100
SOt $300[ 52O $300
EOHE $100[52 O $300
sHOH $10052 O $300
B O] (#0) $200[ 5= O%E $300
G OkF $6,000| EO& $500
BIOH $1,200|5:O/H $500
BIOH $10,000| 5= OB $600
Ok $1,200) BROME $500
F O $1.200[2£EOH $500
BROSE $1,200[ = OFIH $500
EOM $1.200[=O%E $1,000
O $1,200| = OHFf $1,000
EOFEM $1.200/ O $1,000
O $1,200{8F ORI $1,000
@M $1,200|# O $1,000
OB $1.200[FF O $1,000
M OH $1,200|5FOFE $1,000
PO $300[5TOFH $1,000
=1®) $500[FE OB, $200
BOH $1.200|185O%& $2,000
OBk R $1,200)7 O $100
O $1.200[5R O $100
H=O $600[2EOTT $100
FOHE $10,000|BBO%k $100
HO— $10,000[E= O $200
RO $10,000|5HO & $1,000
BOZ= $50,0005FO%E $6,000
SO} $10,000|E O it $500
FOGHE, $10,000|#RO7K $200
O $10,000|E O#s $500
O $2,000{EOF $1,000
BROE $1001 O $10,000
BROBY $100|E=0OF $1,000
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FOHL $150| =0+ $1,000
BROZE $150[wheEE $962.000
BROZ $150) FEHA [ $10,000
BROME $250| K 5 & $3,000
BROA $100 P tHES $3,000
PROE $100| ¥k $8,000
FHOF $100 2 fi HA 26 $10,000
HEOFEH $250|52O= $1,000
fitt O 1 $100|ZF Ot $1,000
fitt O=L $100[E OB $3,000
LO= $100| 2O $1,200
IO $100|AROFE $600
g O $100[EOK $5,000
g OB $100[FO=2 51 $20,000
ZO= $100| &L THEH 2 AGEE B $1,100
BOT $100|E=0OF $1,000
EHOH $100[FEEOH $600.,000
sHO# $100[FH OHEH $1,000
B Ol $1,200|#H OFE $1,000
FROFEEL $8.,000]#H# O=L $1,000
TO= $10,000) E O $2,000
OO0 $3,000) O $500
ZO~ $3,000[= Ol $1,000
Bl OF6 $10,000[BEO# $1,000
HOFE $10,000{F=O $1,000
%O $10,000[F=HOFH $1,000
FOHEE $10,000|=0OE $1,000
BROSHEL $20,000[#ROH $1,000
£OfE $2,000|1#rO% $1,000
AROIE $1.000|1 PO % $1,000
B O $10,000|#kOFz $1,000
EOT $3,000{ARO#H $1,000
BEOR $10,000[#ROE $200
BROLE $900[/FOEL $1,000
RO% $3.000| O $2,000
EO $500[#F O $2,000
O $1.200|1 PR OFFHL $2,000
AO $10,000) = Ot $1,000
FOEE $1,200| FOE®HD $1,000
BIOR $3.000[FR O $1,000
NOES $10,000|1 kO 2= $2,000
FOE $10,000) B OF $10,000
EHOE $1,000{#k Oz $3,000
HBO%E $10,000|FO 5% $1,000
O D $10,000|FEOF= $1,000
EHOME $5.000|EO= $1,000
FBORSEED $5.000|F O $10,000
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%0 $10,000| O $10,000
1@ $2.500(BROEKY $600
HOAZ $10,000|Z8O & $1,000
RO%E $10,000|&O $200,000
BOH $100,000[78 O %5 $10,000
BOE $100,000{5=OZ $10,000
BOZ $20,000|5EO 1 $10,000
BOFEH $20,000[78OF £ $10,000
BO# $20,000{F 04 $10,000
B O $20,000|1 RO & $2,000
BO¥E $20.000|BE O $1,000
HO% $5.000|#EOE $1,000
B O $20,000[#0+ $5,000
RIRIREAH IR ] $10,000|ZO $2,000
Pof e ok $952[FLOfE $10,000
KB $952[FE O $400,000
BfIEA $572|BROE $1,000
T R $1,906[£0Z $500
= $1.906H O $100
MEE $952|FRO$ $1,000
PRACTE $952[BROF] $2,000
FHERSS $952|#O% $2,000
i $952 (B Ol $1,000
Zoo $952| R OBR $2,000
Z2Fi $952| MO $10,000
BOME $5,000|£O1H $500
BOFH 5 $600)FOF $1,000
PROBESE $2,000{#FO & $500
BOE $600|=OF $500
OB $10,000{E O $2,000
B O $10,000[FE Ok $50
FOZ $2,000[#EOF $50
BOF $10,000{Z O $200
RO 2L $10,000|FO & $200
BOE®E $10,000[ZE Ok $100
HO% $10,000/{a O£ $1,200
REOH $10,000| kOB $2,000
21O $1,000|58 O E $500
EOBk $2.000[5E O $500
BEOwA $10,000/3O%2 $100
BEOR $10,000/3£O 8 $100
BOH®H $20,000[FEO & $100
BO# $5,000[EOEd $3,000
1BOE] $5,000{ FEO %)) $3,000
ARGL] $10,000[FE O 254 $10,000
[=100:] $10,000[Z8OH $5,000
=08 $10.000| kO %k $5,000
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= O $10,000[2£OH $10,000
O $10,000{Z£Ofk $10,000
=OE $10,000[FFOFEA $5,000
FOE $1,000| FOZEEE $10,000
H O $1,000)F Ok $5,000
ZFOHE $250 O $250
PROLL $600|E= O $100
SOt $300[FOE@#HD $800
PO $100[}OF $1,000
BRO $1,200( % OHA%E $100
EOTE $100[ O E $100
sHOH $100[ERO1E $100
BHOAR $1,200(fit O A1 $100
BOST $500[#%OE) $6.000
ROM $1,000)BE O $150
RO $1.000[2£OFH $200
FOF8 $1,200|#H O $1,000
HOR $200|F O $250
BOE $10,000[Z£O $100
BO $10,0005FOF $200
BROZ $2,000|5=O% $300
SOLE $3,000| FOFEE $2,000
SO $2,000[E O $600
HEOPel s $2,000[5R O F $300
RODR $2,000[FEOHE $100
HOFELC $3,000) %Ot $300
EOR $5.000) B O 7 $500
BOE $10,000 | Fk O % $500
FEEO5A $10,000 O $100
BOHE $10,000)FE O $100
BEOIE $2,000[EHOFT $100
HEO/T $10,000{ &= O (#70) $200
AOT $750| O & (0 $10,000
RO $250|1BHO $10,000
BOT- $100[E O $100
EHOH $100[fR O $100
sHO# $100[OF% $500
O & $750 (ROt $100
TOFE $600[E=OL $100
BROZL $600[BOA $100
BROE $600[ = OKE $100
BROTE $600[EOFH $1,000
BIO= $600[FR Ot $600
PROE $600[2OF $5.000
[ $200,000|EF O $5,000
HO& $250| ORI $1,000
=05 $100[ FOKEH $1,000
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AEOE $1,000]BR O $200
g OB $100[FROEY $200
HOR $100)| £ OHk $150
fite OF $100[FRO%E $150
BROE $150[BROZ $150
£0 $100[BR Oty $250
RO $300[FROFH $200
ROSHE $300|FH O $200
= O $6,000|5H OF $200
HOE $100[#OFX $200
FOH $1.200);EOF2 $250
2O $3.,000) i O $100
BROZ $100[HEOL $100
AEO8% $500[40O= $100
RO® $300[BBO%) $100
RO#E $300[ & O $100
H=O $400[ 2 OB $100
BRO%Z $600[ 4 OF $100
ROEE $1.200[FE O $100
POt $100[FROF $100
w3 $100[=O#h $100
BIOH $100[EB O $300
s O $100|HOEE $300
RO $1,200[5F O $100
RO $1,200[5F O $100
Z0Oia $1.200|180OF $100
RO®E $1,200[EHO%H $100
O $1.200|EHOF $100
BOB $600z2OREH $100
RO $1,200]BEOFK $100
H O $300[ROZ $100
EROL/A $1.200[FR OB $100
s Offg $1,000|EF O $100
HOF $1,000|BEO%H $100
BROH $100[EROf& $100
BRORL $100[BROF $100
TOHk $150[FROZ $100
BROZE $150[ROE $100
BROZ $150|fR Onee $100
BROFH $100[BROLT $100
BROE $100[ 52O $500
FOF $100|)FOE $1,000
AEOFE $250FEO = #D $600
i OTE $100|HOA $200
fitt O>L $100[ KO $1,000
LO= $100[#FOMEEFK $200
O $100[ EO#E $200
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g O $100[ZF O $100
g OB $100[ZF Ot $100
2OZ $1005=OH! $100
FOZ $100|ZF Ol $100
MO $100[FO%E $200
PROZ $100|7EO%% $1,000
=08 $100[EO% $1,000
BROEK $100[5TORL $200
RO $100[ O $200
BRO B $100[FIOf% $100
@) $100[BROZ $100
FROH $100[#RO % $100
BROE $100[HO% $200
BROE $100[#F O $200
BROZ $100[#F O $200
BROE $100| =OF $100
PR O $100[RO%I5 $1,000
BROLT $100[EOTH $1,000
FO= $300| EOF $1,000
O $300| EOF= $10,000
JTORK $300|E=O%F $1,250
SO $600[=OFH $1,250
FURIARE $1,200|BROF $1,000
ZRRes AR E] $500FR O $1,000
O $1,000{PE O $2,500
FO T A $10,000/#%0O2 $2,500
ZFOE $5,000[#O %4 $3,333
s O $10,000[#£O ) $3,333
ROE $5,000{AEOS $3,334
U pineysy $100,000[#EO 5 $500
FORGE) $800[7R O $500
BHOF% $3,000|F5Oft $10,000
BROEK $10,000|#O & $10,000
=OAN $20,000| = Ofir $25,000
HOMf $5.000) &= O $25,000
PROZE $10,000[EOFE $1,500
RO $1.000|EEOH $300
FO $1,000| O $300
RO $1,000[EOF $500
ROBY $500] EEOM $500
MO $1,000| 5 O $250
ROFAT $200| BEEON- $250
= OW $10,000| PR O $500
OB $10,000|5F O $500
mOHEE $10,000Z O $500
B=OE $10,000|fATOZ $500
ZFOAk $10,000{BR O $3,000
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2104 $10,000| £ Ot $300
2O $10,000| 20 H $500
sTOH $10,000|1 O 7 $1,000
sFO $10,000| RO $500
EO $500[ZFO2L $1,000
21O $5,000,000)20 v $500
BOFEGER) $1,200,000| R O4= $2,000
EHOR, $100,000{FRO L $2,000
HOEH $10,000| B O&E5& $2,000
O $200 | O $2,000
HOEF $200 R O $2,000
BO5h $25,000)/F O%i $10,000
2O $10,000)FOE $10,000
ORI $20,000|EBO%k $10,000
FROE $10,000|HO % $10,000
PRO®E $1.000[Z1OH $10,000
RO $1,000) F O%# $10,000
it O $1,000{FOBE $10,000
RO $10,000|FHO=E $10,000
RO $10,000[BROZE $10,000
FO2H $10,000] R O $10,000
BEO% $10,000|F O $10,000
MO $10,000|Z&p5£E8 A $2,000
GO $2,000[/ 55T $100,000
g O% $2,000]BEO $100
TORE $1.400[FR O $100
FOZ $200[F1O $100
PROZE $200[#F OBk $100
A O P 57, $500[ PO $100
BROFT $600[ RO $100
A ORI $600[FEO $100
RO=E $1,000{#AOFf $100
O H 3% $200[FORE $100
BROZR $100[BEO $500
FOXE $500 R O $500
HO% $1.000{ 52O $200
20X $10,000) R OZK $1,000
PRO, $1,000[#5 O $600
= Ok $10,000{HOf= $50,000
PROERL $600) O $50,000
PR O i $3.000{FR O $20,000
=0 $10,000| =0+ $1,000
fifi O T Bl $3,000[FEOEE $5,000
= O $50,000{5FO $3,000
ROH $10,000|# O $300
AO% $10,000[F=O5 $5,015
O $10,000) TE5F $100,000
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HOFLR $100,000[ZF O $500
H=OH $10,000[fFIOEE $500
FOHE $10,000[F=O $2,000
FOFE $10,000) 5 O%k $500
FO=E $1.000FEO% $500
RO $10,000) B OFE&L T $3.413
O $25,000[FRO R $100
B OxE $10,000|EEO~F $500
g Ofd $10,000[FROFx $5,000
RO $10,000[ZFO%= $1,000
PROR $10,000|FOZF $1,000
BROMW $10,000| s O& $1,000
BROBY $10,000{t5O= $1,000
BROH4&l $10,000[Z2 O3t $1,000
BO%E $5,000({eT OFE $1,000
+OR $10,0004£0OFF $1,000
FO%E $1,000|##H O $200
O $10,000(H O $200
F O $10,000[BEOF $200
BRORAE $10,000|BR O $200
= O $50,000[;OHA $200
=0% T $4,780); OFF $200
i OHE $10,000|= O $200
HSBIIREEAIRAE] $3,000|E=OFE $200
g5 $3,000| = O $200
H &g $2,000|ZF Ot $1,000
WOk $1,200)B OF& $200
g OPF $4,000)BEO=L $5,000
BRO & $1,200)BEOBH $5,000
RO $1.200[{= O $7,000
FAOL $500[/ROF $10,000
AOE $500[EAOH# $1,000
FROH $300[BBO&Y $200
T O $2,000|ELOFE $5,000
FOE $1,200)# O3 $250
EOR $500 4 OF(17/b $300
HORE $500[1E O $300
w=OFE $1.20011HOE — $400
O $1,200[FO5] $100,000
+O8) $1,000{#kOIE $10,000
EOE $10,000 &k OFF $400
TOE $1,000,000| O] 55 $500
FEOPT 4 $10,000| 5 O FH $500
s O $1.000{ 5 OHk $10,000
w=0fE $10,000]F O %% $10,000
HOE $10,000|EOE $10,000
FEEO5A $10,000{ FO % $1,000
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=O Bk $10,000| EOE $1,000
BEOs $100[ = O%E $20,000
HOF $5,000{EOHE $1,000
RO $10,000|# Oz $500
ZO8 $20,000| FR O $1,200
BO#E $100|%= O+~ $1,000
FOH $5.000) B O $600
ETREES $10,000{#E O3 $250
BO $1,000[#OF $200
=& $10,000[F OE $1,000
=OT $10,000[ O $500
=5 OF7 $10,000| 3O 4k $500
RO $1,000|21O%E $10,000
E2@) $1,000|A8 O $5,000
FRO®E $100,000] = O3 $2,000
PRO®E: $100,000[5RO5: $1,000
FEOKEE $100,000[Z O $500
FEORE $100,000 O $500
EOR $200,000] 5 O $500
O $50,000 /it O 73 $500
O] $50,000 /i OIT $500
2IOEH $50,0005501T $10,000
2100 $50,000| O HIEH $10,000
FOEM $50,000[BROFRE $10,000
FO&E $50,000|FE O3 $10,000
EO $50,000[#RO= $10,000
O+ $50,000[FPOHHEZE $10,000
RO $500[20O s $30,000
=0 $1,000{}iti OF5 $1,000
BROM $1,000) RO & $20,000
=HO® $1.000{ZFO)5 $20,000
BrO%E $10,000[BRO i< $1,000
O $5.000) 5= O $500
HOH $500[ 2O F5 1 $500
—HEHEES $12,000|&F O ERFEZE $600
GIEE $1.000{EO%H $1,000
BOZE $100,000[5=O%F $2,000
PO $5.000)EF O $5,000
BO# $80,000| 5= O 5% $200
RO $1,200) &= O $200
RO $1,000[FR OB $200
EOX $10,000|1= O $10,000
BOZEGHED $100,000|F3OJE $10,000
O $500[F=OH $200
ROHE $500[ & OFF $200
HOZE $1,000) % Offi $200
EEOH $2,000[;E Ok $1,000
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EO 5 $1,000|= O $1,000
g O%k $600[ PO $300
BIO 8L $500[FFORE $300
RKOEZ $500[#FOZ> $400
HOE $1,500[ZZOM $100
FRO $1,000) B O $200
RO $10,000[BRO% $200
BIOF $20,000| B O $200
FOFHE $2,000) ¥ Oifi $1,000
FO®E $2,000[FEEOHE) $1,000
EROKE $20,000|1 OG0 $1,000
BOZ $80,000[ &£ O« $500
BROZR $10,000[ZF O $10,000
BROSL $1,200{% OF $2,000
RO $500| = etE $2,000
HOE $300| = M & $100,000
HOE $1,000| =F 5T+ $2,000
WO $10,000) 7RO $200
£08 $500[5TO% $500
£0ORE $500[5TOZE $500
ES ST B A e —[F] $100,000[FROFEE $100
GESE $500[ETORELL $100
BRIk $500[BROLF $100
EEOZEWD $100,000[FFO FEAP $3,000
PO $100[HEOTE $300
BOST $500|5=0O $100
BOEGER $1,000)| EO#% $600
ZOE $1.000|1 O $600
ZFORE $3,600[HOE. $2,000
BRO%E $600[FEEOEH $1,000
£ZOE $500[ZF O L $10,000
EOE $1,000{ZF O $10,000
BROE $3,000|FEFEZE F1.0 $10,000
BROZE $5.000)FEOFKFT $10,000
FROFE $10,000[ZEOk $10,000
AEO%E $1,000) 7Ok $10,000
RO $10,000] B O, $10,000
BROF $10,000|frTOHE $1,000
ROk $10,0004£0OFF $1,000
RO $10,000|ZFOF $5,000
BOZ $10,000| 5= OF $1,000
RO $1.000[FR O $10,000
BO% $1,000(PE O $10,000
O $1.000[fFRO7T $10,000
BIOH $1,000{ % OFF $400
HOZL $2,000[FEOEE $200
HOZ $1.000[FF O $150
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FO® $1.000[FFOF% $150
BO#E& $1.000(#O= $2,000
SO $1.000[z=OE $1,000
BOH $1.000[z= OHF $1,000
PO#E $10,000[EOZ $1,000
FEOZ $10,000| £ OF $500
RO $10,000[BEOF $2,000
RO $20,000|5EOIE $100
FOfE $10,000[£O%2 $100
Z0OdEk $1.000[HEOF $100
BO% $1.000|FOH $100
HOZ $3,000) % OF $200
BHO $1,200{HOFF $500
w=OF $10,000[EFOHE $500
EHOIIE $10,000) 5= O— $750
FOBIE $10,000| 52O $750
BROH $20,000| 5O $750
MO $3.,000{ 5O $750
KOA& $10,000| R O#E $750
=0 $10,000| = O% $750
£O& $10,000 R OFK $750
ZOXEI@D $10,000[£O $750
AEOT $500[BROM $3,000
EOM® $9.000[FR O 45 $3,000
BOF $10,000)FOF2 $300
BRO $10,000[F=O# $200
O3 $10,000[H O $200
FOE $2,000[BROH $2,000
RO $2,000[BXOFZ# $3,000
BORE $10,000[F=O7 $200
OB $5.000| RO $800
OB $10,000|Z£OF5 $6,000
PHOH $10,000| RO Fh $1,000
PO $10,000| B O $3,000
ZIOARK $10,000|EE OB $200
MO $10,000(#O& $200
BROE $10,000[FR O $1,000
H O $10,000[;&OF $250
BOE $3.,000);E% OBEE $250
HEOF &g $10,000|FOE $5,000
#FO® $10,000)7O $100
EHOF5 L $10,000|ZO 7 $250
TOEE $10,000|ZBOM $250
BOR@E) $5,000[FFOF $500
BOE $5,000| PO $10,000
BEORE $100,000[&x Of= 45 $3,000
BOMH $200,000{#x OFE & $500
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HEORE $100,000|55OfER $2,000
il $200,000{21O1C $2,000
BO=E $500,000[ RO $500
BO% $300,000);HO $500
BEO= $2,000[FEOZ $500
BO $2,000|# O3 $500
BROZR $10,000)8£O H & $10,000
FOFET $100,000[&& O € $10,000
HOL $150,000| = OFRJEL $10,000
ZOH $150,000|EO%= $10,000
HOE $100,000| =05+ $500
g O[5 $1,200| e EEnE F $50,000
B OfE $1.000 P4t f>FE 1 $1,000
HOR $1,200) PO $500
BROH4&l $2,000) 3 OFL $10,000
BO=E $500,000{#£O $5,000
BOE $100,000]&x Ot $30,000
BEO= 0 $1,000,000| 5= OfE $10,000
EOZ $200,000[ 52 OFF $10,000
RO $1,200,000[7TROZE $500
=0 $600|E=OFA $1,000
w= O $600|122O5H $2,000
BO $20,000|2£O%H $1,000
FEOK $1,000|5=OFE $500
BOH& $6.000) 7O $500
B O 5 $500[ &k O $200
BOE $25,000[EEOF $1,000
HOE $4,000[EF O B (&) $5,000
HOE $4.000[F=OF $1,000
BO: $100,000]fAf O E {0 $10,000
EHOFE $1.000[FHO>L $9,000
PROFAGED $20,000{FEO== $30,000
PROEE $20,000[F=HOFH $1,000
BHO— $20,000|=0OE $1,000
BOH $100,000|#FOF $1,000
BRO $1,000|1#O% $1,000
BHORL $300[RO%E $1,000
FOE $200[#FOF $1,000
O $1.000[FE O $1,200
FOE $200[ RO &L $1,200
FROHL $5.000FEOZ $10,000
RO $1.000[FEOXK $10,000
OB $2,000[F O/ $10,000
ROEE $2,000{50 O $10,000
BOH $50[FEOF $10,000
ROk $1,200| = O $10,000
thOEE $1,000/EOE $1,000
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AEOFH $2,000(E= Ot $1,000
£2O/ $100)&£ O $100,000
ZOH $1.200[#EOFK $10,000
ZORE $100[EROE4K $10,000
BBOZEE $100[#5O#F $5.000
SO $1,200{#A O $300
SOOIz $1,2001 77 OFf $10,000
SO $1,200)BROAK $1,000
HEOHE $1,200| = O $10,000
RO $100| = Or $10,000
CAO) $1.200{f ] OF $10,000
SORE $1,200|= O $10,000
HOH $1,200] = OB $10,000
RO $100F O $1,000
AROE $100|{# & FAE AR/ =] $10,000
ENOLA $100[FE# L $17,500
RO $150[##OXP $2,000
RO $150|ZF Ot $1,000
BRO $1,000| =05+ $2,000
sHOE $250[FEOHH $300
MHO= $250[FEO¥ $300
HOH $250[HE Ok $300
PO $250[FE O/ $300
NOEES $10,000| 68O & $300
HO%H $10,000[#=OF $300
FO&E $10,000{ SO $300
FERG)EZS $1,200FEOZ $300
sTOF $1,200) B OF] $1,000
BOR $1,200[#HO 5 $500
FOE $1,200[#HO 5 $500
RO $1.200[5R O $500
BROZ $1.200{ POt $100
sTOFE $1,200|BAO $100
sTOM $1,200[E O #S $1,000
Al OF& $10,000|21Of= $500
LOB $10,000)E O $500
MO $10,000[ O $1,000
EOH $10,000) B O$1 $200
PO54 $10,000| 5% Opk $100
L OB $10.000[# O $100
2O $10,000| kO F& $500
HOMAE $10,000) B OFF$< $200
ROFE $10,000|FBOEZ $1,000
ROFE $10,000) 5% OHT $1,000
FOT $10,000| BB OB $10,000
O $2.,000 (21Ot $10,000
HO4 $10,000|1#CO& $10,000
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HOHE $1.000[ZFO& $10,000
RO H $10,000{ £ O%k $10,000
FO=EE $2,000[210O% $10,000
PROLL $10,000) = OFEER $10,000
FIOME $2,000{52 O $10,000
FIONE $8.000[= Ok $2,000
BROTEE $5,000[#OE $2,000
BROE $5.000[HEO= $2,000
g OH $10,000[#£O4L $2,000
HOR $10,000| = OH $1,000
H#HOAE $10,000[FROF: $300
BRO $10,000|FHOEHE $300
HOWs $2.0001#O& $500
HOEL $2,000|EF O $500
HOF $2,000{#O % $500
HOECER) $300|HAOH $500
=0% T $1,000) POt $500
=0% T $1.000pTOE $500
B Ok $50[Z O $1,000
20 $100|E= O $1,000
£08 $100[#FOFE $20,000
BOZ $50,000)H O $250
BEOFHRED $1,000)E= O $100
HIRZEEgCE $9,000{ F=-OFE $1,000
NEETR IS $100,000[OEF $300
E IV sk = $20,000] & OBH $100
P FHZE R Al $26,000| 8 O & $100
HESF $500,000[FROIE $100
SBO%k $65,000| it O $100
FEOLE $1,000| Pk O%F $1,000
BRO®& $5.000)BE O $150
2 OF5 $10,000{2£OFH $100
FOH $1.000[FH O $1,000
T O $1.200[ZF O $250
FEOZ $1,0001Z2O $100
O $10,0005FOF $200
210t $10,000|58O T $20,000
EX O $10,000|5 O $300
POk $5.000|#EOME $1,000
BIOFEH $250|5OEH $300
HOE $300[FEOHE $100
g OHk $500[ = Otfg $300
HOE $500[FROFE $500
HOZ $500 B O %k $500
HOE $500[EOTE $100
TROZRHD $1,000)FEOF% $100
= OB $1.200[EHOH $100
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FOH $10,000{ &= O (#7) $200
POIE $10,000[FEOF (0D $20,000
ROH $10,000{FEOZAE $1,000
T O $10,000|FRO %% $1,200
PO $10,000|EO& $100
HoO2 $10,000[EH O $1,000
RO $10,000[BROF $100
H O $10,000[OF% $500
RO $10,000| PR O $100
ROZ $10,000|E= O $100
BROK $10,000{ZIO% $100
A OF $1,000{E=ORE $100
HOFH $1,000|EBOF $1,000
= O $3,000)FOE $6,000
ZIO® $250[HEO= $6,000
FOIE $1,200{5%2OF $5,000
EOE $800[F O $5,000
HOE $200[BRO $100
A OFE $500F Ok $100
HOFH $500[ EOHk $150
PO $10,000) s O % $150
MHOEE $700[BROZ $150
£O% $5.000)BE Ot $250
HOHE $600|FH O $100
(RO $5.000) B O3 $100
SOEE $300| 2 OFF $100
HOE $2,000|1 OB $100
FHOR $10,000[:OF$2 $250
EOE $1.000[FEO It $100
BO#T $5.000] 1 O=L $100
BO $500,000{4CO%F $100
RO $10,000| 68O &) $100
HORE $1,000| % O $100
MO $1,000( % O $100
PO $700[ 2 OF $100
MO $500[H=O%% $100
FHOJE $10,000| B OF& $100
RO%E $10,000| 5 O$#, $100
FOHE $10,000[EFO fie $300
EOfF $10,000|EFO % $300
HOH $300[ET O $100
g O et $4,000[5FOE $100
£0 $10,000/#% O+~ $100
B OT $5.000|EH O $100
RO $1,000|EHOF $100
#ROLE $6.0001Z=OFEH $100
BROZR $1,200] B OFK $100
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w=OF $1,200|BEOZ $100
=05 $2.400[FR OB $100
10O $600 (BB O $100
BO&E $5.000)BEO%H $100
£0% $1.200|BEOtG $100
EHOHEK $1.200{FROF $100
EZO)l] $1,200)FOZ $100
O $10,000[BROE $100
£0O% $1,200|BR Otz $100
SEOsmEL $1,200|BRO4F $100
BO $2,000) 5% O $500
TOF $2,100|FEO& $1,000
O $1,000[FEO= ) $600
#rOAE $1,000) AR OF $1,000
+OH $10,000|1 kO $2,000
#FOF $10,000[5ROFE $1,000
BOFH $10,000| FO% $3,000
BO#g $10,000[5FO kK $200
BOZE $150,000| Ok $200
=10 $10,000|21Of% $100
it O el $10,000| B OZ $100
§TO $1.000) PO $100
FOE $1.000[HO% $200
RO $10,000| £ OtH $1,000
FOZ $1,000| EO$ $1,000
BO== $1.200) RO B $10,000
PROH $1,200)220 $5,000
i O% $100|Z£OFIE $5,000
O $600| 22Ot $5.000
O $1,200)122O%E $5,000
PO $600/2£O1= $5,000
MO $600[Z£O % $5,000
gt O] $600|Z2O5- $5.000
O % $600[FROF $2,000
BRO#Z $1,200|= 0% $10,000
i OB $100|Z£OAIFE $200
HO#H $600[EXRO 4 $200
BO2 $200[ 5 O $100
s Off $1,000)EO%F $100
EHOR $600[=OFE $100
BROFT $1.200[z=O K $100
BIOEX $1,200) &= Of& $100
BHOAE $600[ZFFO= $1,200
=0 $600PTOE $2,000
ZF O $600[FEO $2,000
BROF $100) O $1,000
BROE $100[EPOF $1,200
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EOWM $100[JF O $1,000
EOTT $100|2 O $1,000
HOFx $600|FH OFx $1,000
BIOF $600[FH O $2,000
EOR $1.200{ZF Ok $1,200
BROBRR $1,000|E O $500
FROZR $1.200[F O $10,000
+O% $1.200/&OZ $10,000
=OE $1,200[/& O $10,000
wOZ $1,200 A O Hii ] $300
= ORAT $1.200[FEOZF $1,200
EOHE $100|FOE $1,200
E=ORE $100[FECOAK $2,000
E=OMRE $1.200[/RO%E $10,000
HROFH $1.200[FEEOH $1,200
E=OB $100|O= $10,000
EOER $1.200[EO#E $10,000
EOFE $1.200|E O $10,000
O $1,200 O $10,000
O $600[ EOF $10,000
FOH $600[=OE $10,000
RO $600[t5OF $500
FROH $600| RO $5,000
FFOZ $1,000| =05+ $100
FOE $200| =05+ $2,000
BRO $500[=OZ= $100
EO5h $100) B Ot $20,000
MO $200[PR O3 $10,000
BRO#% $200EfESF $300,000
FR O} $300[ZFOF $2,000
2O $100|55OFE $100
TOE $100|FOE@HD $1,000
PO $10,000| 4RO $500
FOE $10,000[BEOH $1,000
ZO®= $10,000|F=O¢ $1,000
EOE $10,000[#ROF $500
ROEIER $10,000[AROH $1,000
£ZO®& $10,000{ OB 0 $3,000
s OFB L $1,000[FR O $1,000
=OE $1.000[Z0O $1,000
HOH $1.000[ZE O $1,000
MO $1,000) RO $300
MOz $1,000|EO%z $1,000
MOPE $1,000[AEO B $1,000
=ORT $10,000[#O $200
MO $50,000{ FO1E $250
HOR $10,000| EOE $250
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MOBE $17,000[FR O $2,000
ZOE $1.000|FO % $200
BEOFHRED $20,000|FO=H $200
£20) $10,000[ZFO#E $200
AEOE $250|F O $200
=05 $200[FO%E $200
FOEGD $800|1E= O $1,000
HEOFE $1,000[ PO $1,000
EAOLEES $100[R O $200
ZOR $100[fOF= $300
BOfT $10,000FE= O $500
fiti OF $100|E O $3,000
BROE $150|PAtzE {1t $2,200
£0 $100[t5 Ot $500
H O $1,000[F=OF I $200
ZFOHE $250 R O $3,333
Z#0 $100| B OB $3,333
RO $300[BR O $3,334
ROSHE $300|2IOZFE $1,000
SOt $300[=OF $5.015
BO $20,000[#EO EE (D $12,000
BORE $10,000| B O $35,000
RO $500[FEOK $400
BROME $500|FEO $400
EOHE $100[FO &L $400
sHOH $100|FEORE $5.000
B O] (#0) $400[FEOLR $8.000
BROAE $500[f Oty $20,000
FOHE $100[ FO#4 $1,200
BROZ $100[#FOF5 AL $2,000
RO® $300[FHOH $2,000
RO#E $400[EROHr $100
H=O $300[FROfE $150
POt $100[EROHE $150
w3 $100[#5COEE $100
BIOH $100[5=O H $100
OB $100[FO% $2,000
H O $300[FOFE $1,500
ZEORE $10,000|FO%H $1,500
ROE $5,000{#kOF2 $1,000
HO%E $5,000{ZIOEE $500
ORI $1,000|21O= $1,000
FOEH $1.000[F1O= $1,000
wO%E $500[BIO= $500
e O4f $500[# O $500
PO $1,200|F20O% $600
BROH $100[FROR $600
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BROBY $100|ZFOF% $1,200
TOHk $150[E O $1,200
PROZE $150[H OBRERK $10,000
BROZ $150)BE OB $10,000
BROH $250[BBO $3,000
BROFH $100|{AOEAER) $1,200
RO $100| =05+ $200
FOF $100[FHOE $1,000
OB $100[#EOF4 $600
BOE $1,000[ =tk S $2,000
=OZ $1,200|#EO% $1,000
FRO2E $1. 200 O R, $10,000
BEOER $1,200[FOFBLL T $760
HOE $1.200[/ROZ $500
FOE $1,200|&F O BRI 5 $600
O $1.200[FRO%d $3,000
RO $1,200|50OZ= $500
=OH $1,200( 5 Ol $1,500
PO $1.200[52O% $1,500
=HOFHE $1.200H:OA $1,000
PROZ $1,200|Z8O8f $300
HOZE $1,200({BE O $100
BROFE $1,200| O $15,000
EAORN $1,200|1# Ot $2,000
AEOFEH $250F O $500
i OTE $100|F O $500
fitt O=L $100[E OZ% $200
LO= $100[2£OF $100
O $100[ZF O35 $600
g O $100[£O $1,100
O $100[#RO $1,000
2O= $100|5 RO FFEEHD $320,000
FOZ $100)FPOL $10,000
MO $100[2OE $5.000
FRO®E $100[#FOF} $10,000
e O $100[#RO%E $1,000
SO $300[BREO H ik $10,000
HOEE $300[5= O¥4k $2,000
s Offi $100|122OF $500
sTOfE $100|Bz O $500
MORE $1.200|5TF O $500
BOT $100[#OfE $500
EHOH $100[BROZE $500
sHO# $100[F Ot $500
ZOREH $100[5=OfE $500
BROEK $100[=OH $500
BROE $100[5ZO%k $1,000
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BRO B $100[FFOE $1,000
@) $100[FO $1,000
BROH $100[FBOFE $1,000
BROTE $100| B O $1,000
BROE $100| T O4 $500
BROZ $100[EBOF $600
BFROE $100 % O#F $600
PROME $100[FEOfZ $10,000
BROLT $100|F O $500
£O== $30015% O $100
O $300[2OZ $100
1 ORX $300[5=OZ> $200
O $1,200[5%50 /& $200
RO $500[H O $200
BO#E $1,0001 5 O, $500
FEO=EHD $1,200(#H OFE $10,000
H O $1,200) = ORAE $1,200
i O fH $1.200[fRO= $1,200
T O $300,000{z= OFF $200
RO $1,000) &= O $200
MHOE $220[m= O $200
BROE $200[EHOZ $200
T Of&E $150[ =0+ $2,300
SO $150[HOBEI&R $1,500
EEOH $10,000(FHO 1= $3,000
EOHk $10,000{ =0+ $1,358
=OE $50,000)| HESF $700,000
= OfH $10,000 [zl =¥ $6,000
BOE $10,000| H & & $200
=HOFHE $10,000| £ OFE $1,000
RO HF $10,000[FH OZFE $1,000
O $10,000|FHO=E $1,000
FO%E $2,000)#H# O $1,200
2O $2,500| 5 O 5% i $1,200
2O $2,500[FEO & ({50 $10,000
BRORL $10,000| EO L $2,000
HOE $1,000|21O4H $1,000
BRORE $5.000[FO $1,000
il 15 $1,200|FO% $1,000
EOR $4.000[ZF Oz $1,000
PROZE $1,000)E O $500
BROF L $1.000[E O $1,500
BROH $1,200|#O &% $1,000
=OJE $10,000[#OF $1,000
E AR E $1.200|1 PR OFFHL $1,000
B Ot $9.,600[5E O $1,000
5 O% $9,600[ AL O=F $600
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20Ot $2,000[{HOsF $500
BEO S $1,200|f L OF $300
PR OME $1,000[5TOF $500
#0O $1,000[gFOF $500
BROME $1,000|#OEE $3,000
Z0OE $3,000[HOZE $200
H#HOTT $6,000|#ROIFEF $200
O $6,000{ O HEE $400
= O4L4E $10,000[ EO&H $200
SOREEE $5,000|F O $500
BROZE $1,000[/EOF5 $1,000
OBk $10,000|EEO LB $70,000
PO $10,000|BO% $500
SO $10,000[ O EEk $10,000
RO $2,000({ RO $2,000
OB $10,000|1#£ O $1,000
HOR $10,000| = OFH $300
O $10,000|BEEO[E] $1,000
HOJH $10,000[E O $2,000
B O HE $10,000]ZO $2,000
BXOFA $10,000| 22Ok $200
HOE $10,000|FH O & $1,000
ZOl $1,000|3 O $1,000
O $1,200|FRO3& $5,000
SO $1,200( B O5H $5,000
2501= $300[EFOE $1,000
HOH $100[E=O A $1,000
BROME $1,200{&= O $1,000
RO $1,200 3O $1,000
BROME $1,200{EO# $10,000
ZOH% $10,000[Z O $10,000
BROM $10,000[Z0O#) $10,000
—0O%+ $300[fEOIE $200
MRS $300,000{FEOE $1,000
EO $500| 22 OFkt $100,000
FOX $500[FRO D) $1,000
FORE $500[FRO D) $50,000
ZOBE@ $100,000[EO&EH $10,000
= OB $2,000|ZE OBk $6,000
O $100[ Ol $6,000
NOL $500[TEORK, $1,000
=OMS $1,000{# O {0 $2,000
BROM $1,000] TOfF $10,000
=HO% $1,0001#%5OFE $300
2O $2,000(# 2O $500
=HOH $1,000PEOT $1,000
PR O Bl $1,000/EEOHH $1,000
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PO $1,000(B O4n $10,000
ENOLE $1,000{Z2OHE $300
FRORE: $10,000[HB O $1,000
ey $10,000| Ok 3 $10,000
FFOZK $10,000[FH O EEF $10,000
RO $10,000|:5OFH $10,000
PROREE? $200|2 OBk $10,000
=0O%T $1,200[FE O $10,000
OB $100| R OFEFL $100,000
BOH S600|BEORE $10,000
MO $600[ P OF% $10,000
BOSF $500[ FEOF] $2,000
2O $1,000[ EOT $2,000
O $1,000COFE $200
#HOH $10.0000 TO% $1,000
BEOH $10,000| Z=O%F $9.300
RO $800[FEOFH $500
2O F Bl $25,000[F8O %1 $500
B0 $25,000| ZO% T $10,000
2O $2,000[=0%F $5,000
#Oth $2,000{ & ILE TR S pe g $6,400
ZEOM $2,000| RO $1,200
B0 $2,000(EA O $1,000
®OEHE $10,020|EEO ML F $100
BEK $700|# O+ $4,000
&=OR $1.000[Z=Ok $10,000
BOZE $10,000|BEO % $10,000
o) $100[BEOLL $4,800
8 OFt $3,000|5FO FA0 $2,000
HOZE $5,000{ZO7 $100
BOE $1.500,000[ 2O & $2,000
#O)/K $10,000] EO7 $1,200
FFOE $10,000[ZXOFl $100
fh S $100,000[2£O $100
BO& L) $10,000[EO % $100
BOE $10,000[2£O $100
BOE® $10,000[5FO $200
#08 $1,000[ZFO% $100
O $1,0002FOE $100
HOF $1,000)5F O $100
2O/ $5,000[ O $100
FOSE $1,200( EFOF $100
O $300|15FO&H $100
= OHf $300|FFO#E $100
=HOH $400|Ft Ok $100
PO $10,000[2FO%E $2,000
RO $10,000)|Ex O <& $600
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HFOREH $10,000| &£ O <] $1,000
FOHE $4.000{ 5O $600
[ O $3,000[550O4= $600
O $3.000[FRCO $3,000
=HOE $10,000| 8 O $10,000
BO&E $10,000{F=O%E $4,600
= ORE $10,000|FFO=E $1,000
OB $10,000[FROFx $1,200
s Off $10,000|E—F R 5] $10,000
FOH $10,000| A R A TR /N ] $9,000
w=OE $10,000| iz i2 At $9,000
O $10,000|BR OLL $5,000
PO $1.000|1# O $100,000
HOE $10,000[EXO &l $100
=OR $10,000[Ex O &l $10,000
BO& $10,000/ 0 & $6,000
FROZED $10,000{Ex O $10,000
FHOrtE $200| &k O%X $200
FOE $500[#FOF5 {5 $100
O $300[#0O4 $100
HO= $200[FL Ok $100
OB $500[AOE $100
TOZF $500[ 4 OiF $100
SO $300|F O $100
RO $5.000)FOF=5E $100
sTOEE $10,000| £ O $100
OB $6,000[AEOE $100
O $10,000 0 = $100
RO $10,000[BROMETE $100
RO $10,000[#O $100
BOZ= $10,000|F O=2 $1,200
BROZE $5.000 (PR OF% $1,000
RO $5,000[5R O $200
EO7E $10,000[FEOH $1,000
= ORP $10,000[FEO1H $1,000
=0 H $10,000[#£Of= $300
FEORAGD $10,000|frTOHE $1,000
RO $1,000[#OF $1,000
FOIE $1.000{FROZE $1,000
HMOE $100,000]#£O $200
HOH $1,000) B O$#, $1,000
HOE $10,000/FOH $500
OB $10,000[EO5] $100,000
FOEZ $8.000|1tRO=F $2,000
BOZ $10,000| & OF& $200
FOAE $10,000[JFO= $1,200
FHOR $10,000|21O1F $1,200
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SO $10,000[5FOF5 $1,200
OECHE) $15,000|FE O $25,000
BOR $10,000|#F OZE $25,000
BEOZ $10,000{ EOF $100
BOZ $85,000[FFO%E $10,000
e O $6,000[F1OF $1,000
w=OTT $6,000{5O%F $200
HOZ $6,000|1#rO%E $200
HOE $6,000|# O $100
#HOE $6,000)# O $100
AEOE $250[5 O $100
s O $1,200| 5 OF $300
O $1,200|#H#O5F $2,000
=05 $100| /5 O $10,000
AEOE $1.000[z=OEE $10,000
g OB $100)1=0 $10,000
ZOR $100[FFOE. $5,000
i OF $100|1 RO $10,000
O $1.200 &= O#k $2,000
MO $1.000[2£0 $500
BROE $150[2£ O] $500
Z0OH $100[ZEORI $500
H O $1,000[#ORE $500
FOE $250[2E O $500
Z#0 $100[FFO $500
RO $300[EROf $400
ROSHE $300[EFO1Z $1,200
SOt $300[;E Ok $1,200
RO $500/f OF5 $15,000
BROME $500[HOF* $1,200
EOTE $100|ZFO= $1,200
sHOH $100|Z&pE L8 A $2,000
B O] (#0) $1,000) AL $10,000
BROTE $600[EROH $700
PrOLE $900[ O $700
FOHE $100|FEOHE $1,200
PO $100[FROEE $300
O $1.000[FF O $100
RO® $300[ETOE $100
RO#E $400[ O $700
H=O $300[JEOPE $200
MO $100|E=0O%E $1,000
BOH $100|E=OHF $1,000
H O $2,000/ O $1,000
BROSRAE $4,000)E O $500
O | $5.000{ £ O## $500
FO= $5,000#E O $3,000
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TORM $1.000{ 52O $200
FEOEH $1,000[t5OF $200
BROH $100[# O $200
BRORL $100[m= O $200
TOHk $150[HOB $300
BROZE $150[E=O%> $300
BROZZ $150[BR O $1,000
BROH $250[FO% $250
BROFH $100[FBOPE $250
RO $100[fOF= $500
FOH $100[ & O $300
BOB $100[ZF0O $2,000
AEOFEH $250) 2Oz $1,000
fiE OTE $100|EHOE. $1,000
fitt O>L $100| = OFF $500
LO= $100|HO&E $2,000
O $100[#F O $500
g O $100f O $100
O $100|ZF O $50,000
2O= $100[t5O% $2,000
HEOZ $100|# O $3,000
MO $100|BLOE $10,000
SO $300[ O $200
HOEE $300 &k O $2,000
s Offi $100[2EOHE $1,000
sTOfE $100[EFO#h $2,000
BOT $100[ZEO L% $300
EHOH $100[7xOHrk $500
sHO# $100[FOJE $600
ZOREH $100/ 2 OFx $500
BROEK $100[=OF $300
RO $100[FR O1& $500
BROB $100[ZFOHREH $1,000
HOE $100[FRO % $1,000
BROH $100[ZEO % $1,000
BROME $100[EO¥ $100
BROE $100[HO%E $1,000
FROZ $100[2OE $1,000
PROE $100)2F O $10,000
BROHH $100[# OFAL $100
BROLT $100[#F# O $100
RO $5001 TO $200
BO#E $1,000[F OB $2,000
FEOEED $600[ R O(E $3.000
HOZE $200[5=OLL $100
BROF $500[#FOF5 & $2,000
RKOT $2,000)ZL Ok $300
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SZORE $1,200) &= O $200
£OFH $10,000[5RO%H $100
TO%E $10,000/B O $10,000
+O= $20,00017EO & $10,000
TO%% $10,000 TO4H $200
O/ $200[F1OJe $500
FEOB $200[#IO $500
FOTR $200[F1OH $500
O $200[/FOREE R $100
HO%E $200[)LO+ $500
FEOHE $200[Ex OF5 $500
S OR $200[BEOH $300
FEOZS $200 | O $300
#ROE $1.200{52 OfF $2,500
OB $1.200{ EO%s $100
MO $1,200| O£ $50
i OB 4% (H#0) $2,000)FE=OH $100
HO% $100[#O I $50
PO $2,000{ =0+ $100
BO $20,000{ =0+ $200
ROE $10,000[5RO5 $500
O $10,000| =0+ $200
BROAN $10,000{ =0+ $500
RO $10,000{ =0+ $3,000
BOfE $1,200,000{FRO##x $200
PBROB $5,000|12FOF $1,000
BROZE $10,000|EEOTE $1,000,000
MHOZ $1,000) O $2,000
ROk $2,000{ZF Ot $1,000
H O $1,200) AR 0O% $500
=0+ $4.000[=Ol5 $2,000
HEOEE $2,000{FRO#F $1,000
ROH $200|E= O $1,000
FO.0 $3,000{ A O $1,000
FO¥K $1,200[FR O $1,000
BRO3 $1,200) B OF] $1,000
HOZ% $1.,200[ 4O $100
ZOWE $1.200[HEOF $100
HORH $1.200|FEOH $100
O 15 $230[BR O $2,000
BRO%% $200[F1O1= $500
O $200[OF $500
BROZR $100|Z£OAIfE $100
BOZ $100[EROHr $125
BROZE $100[FROfE $125
BROE $100[EROH $125
RO $100[t5OEE $125
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BROH $2001 % O%> $100
TOPE $1001BEO% $200,000
HOKX $300|HEOE $1,000
RO $1,200|=OF $2,700
PROZ $1,100( 5= Oifif $10,000
BROLL $1,100|5R O 4% $400
HOF=E $2,000] F Ok $10,000
FOE $500|HO = $300
HEOF $500[F Ot $10,000
AE OB $500[s# O $500
O $500[#F O $5.000
AEORK $500 /38 O3k $5,000
&L Ol $1,000{FROBE &5 $500
TOH $1.000(H O $1,200
s O $5,000[F1OK $200
HOE $1,000[7k O $1,000
RO $2,000(#OJH $2,000
O $200[5TF O $1,000
e O $500[#F O $500
KO& $500[ £ OB $1,000
RO $50,000] £ Ol $4,000
HO=E $10,000{ =OF= $4,000
HOR $10,000{2£Of# $100
O $10,0001£2O YN $100
MHOEAE $10,0001Z20E $100
MOt $5,000[F1OF $100
POPT $20,000|# O’ $300
OIS $10,000|BR O1F $200
=02 $10,000{FPOFKE $9,000
KO $10,000[#EO#F $2,000
=0%F $1.000[ZF Ok $300
=0%F $2,000[FE O $10,000
TO% $3,000[FEO % $200
BROBE $500 1] O $600
PROME $3.0004E O, $1,000
RS {ERE [ $2,250| & LfhHrE $800
B A IR ] $50,000| Sk 38 #E AR/ H] $2,000
HOHE $1,000758 2 L AR EIR (E1E) $50,000
= O4L $10,000[BEOFx $1,000
2O $10,000) B O$#, $1,000
OB $6.000[FEEO % $1,000,000
KOZ $1.000(#O£E $50,000
FO8% $1.000[EEO~F $5,000
RO $2,000[ O $10,000
BROZE $10,000|5EO(E $200
HOE $200[EFOzE $200
= O $2,000[3£0O $200
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ZOmfE $1,000|1#0O=L $200
HOT $1,000[#OF $200
sTO1 $10,000[ KO $200
O $10,000{FFOTT $200
ZORE $20,000{22OFE $200
ZFOIIE $10,000) B O $200
TOZEZE $64,600|1 Ok $200
HROE $10,000|ZPO=E $2,000
OB $10,000[FEOT& $200
BOFE $1,000]BRO 7 $200
BIOH $9,000| 0O $10,000
HOZ $1.000[=O= $2,000
BOZE)S $9.000) ¥ OHE $10,000
SO $9.000{#£O% $10,000
O $38,250| B OFz $10,000
ROFEE $500,000[FR O $1,000
FROY/A $10,000|F O $300
FOIE $10,000{BRO{# $300
FHOHE $10,000[FHO = $300
BXOFTE 1k $10,000|5 O $300
BXOZEME $10,000[£50 2 $300
BEOE. $20,000[£5O1E $300
BORGED $10,000[5RO#E $200
PROZE $10,000[7F=OF $1,000
R ORE T $10,000 O & $1,000
FOZE $10,000[EOZ $1,000
HOE $10,000 O % $1,000
s OFH $10,000[EEO&E $1,000
EO¥E $10,000[EEOH $1,000
PRO= $5.000[EE O $1,000
+OE $10,000{Z£OHD $2,000
FOR $5.000[z=0O% $10,000
PO $1,000{ =0+ $300
RO $5.000{ =0+ $2,200
i O%f $10,000{ =0+ $11,000
BROZR $10,000{ =0+ $500
EO= $10,000| kO EF $2,000
LO $10,000 [ #5187 $100,000
O $10,000[FO $10,000
OB $1.000[HO = $250
HOZE $1,000|=0OF $100
HOED $1,000( % OHA3E $100
BPORED $10,000|FOE $100
=OF $1,000{FEOTE $100
SOE $10,000| it O $100
i OSLIE $500(BR OF $150
EOE $10,000|FO2% $1,000
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wHOFH $1.000[ZF O $250
=OE $1.000[z20 $100
HOH $1.000[FFOF $200
MO $1,000)5£O% $300
MOz $1,000[5R O F $300
MOPE $1.000[FE O $100
HOFE $5.420[ 5 Ot $300
FO*E $10,000|5 O $1,000
Jitt OFK $10,000)f O 7 $500
O $300F O %k $500
BEORE $100fH O $100
R0O¥% $200)7EO1H $100
RO $300[FEOFE $100
BRO A% $10,000[FHOTE $100
PROE $10,000{E= O (D) $200
BROZE $10,000|EO& $100
BROE $10,000[BEOF $100
BO58 $1,000)E O $500
BOBE $1,000[5R OEEE $100
BOEL $1,000{ kO $100
HOE $1,000)EOL $100
HOFE $2,000{Z1O% $100
HO&E $1,000{E=ORE $100
MOFER $1,000|EROF $1,000
A O $10,000| O & $10,000
RO $10,000) %= OF $5,000
BROYE $10,000{ O $1,000
1{@)5: $10,000{ =O KR $1,000
PRO=E $10,000)| £ OHk $150
O $10,000)f O % $150
BEO# $10,000| B OZ $150
BEO#H $10,000 B Ot $250
HO#&H $10,000[:OF$2 $250
BRO & $10,000 /it O 1F $100
RO $10,000[}ttOL $100
RO $10,000[40.O% $100
RO— $10,000|68CO &) $100
= Ot $1,000| % O $100
PROFE $10,000] & O $100
HEEO4H $10,000| 8 OZ% $100
E| V=S $100,000[FEOZ% $100
i 7 1 $10,000| B OF& $100
aalighiss $10,000|E=O$ $100
PO $5.000|E O $300
&L Ok $2,000| B O $300
sHOE $500[ET O $100
O $250[ETOf $100
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O $250[t O+ $100
ROZE $2,000|EHO%E $100
BO# $1.200[EHO#4 $100
TOEE $2,0001Z=OREH $100
PO FT $10,000 R O $100
RO $1,000|EEOZ $100
HOEEGD $1,000[FR O $100
=10 $10,000[EFO i $100
RO $1,000)BE O $100
sHONE $500[BRO15 $100
O $2,000{FEOF $100
BOJ $4.000)f OZ $100
OB $5,000[FROE $100
SOREZE $5,000|BROfiEE $100
BROE $1,000)BEO4F $100
ROE $3,000) 52O $500
£O8 $200[2 O $1,000
=08 $200[FEO = #D $600
£0fH $200[ KO+ $1,000
ZOEH $200[ EO% $1,000
2O $200|ZOE $5,000
208 $200[ET OB $200
ZOH $200[#F Ok $200
BROZE $10,000|21Of% $100
BO1E $2,000)BE O $100
BO= $5.000) PO $100
RO $1,000)#O% $200
= O $2.000[5=OE $1,000
SO# $1.200[#2O5H $1,000
BROZH $2,000[5R OF $500
O $500[HO & $100
MO= $1,200{FE ORI $100
PO $500[HO%H $100
HOH $5,000[5R O & $100
EOFRE $1,600|5& OhE $100
HOH $1,200|5RO & $100
s O $100|5=O%F $100
e O $100[=O% $100
w1 O $100[tOF $100
OB $100[2EOZ $100
IO $100[tROE $100
BEOE $1,200[52O H $100
O $1,200|5:O2 $100
qOF $5,000|5£O% $100
=ZOX $2,000|5=OHi $100
O $10,000)5ROTH $100
FO&E $10,000[5ROZ& $100
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FOFHEH $100,000|7=ORE $100
EOIET $3,000) 7Ok $100
=0% $2,000[7RO%E $100
O $2,000| A O=F $100
= Oxit $2,000] O, $100
=OY $1.000|5O= $100
BRO $10,000[ = Ok $100
=0%F $6.000) 87O Tt $1,000
MOBER $10,000[E O $3,000
w=OR $1,000)5F O $500
EOIT $10,000[FH O & $500
#O $1,000| &= OFF $500
ZIOHF $2,000[fE O $1,000
A OHAD $2,000| 2O H $1,000
s T O $2,000) £ OH $100
#FOR $10,000 [k Ok $10,000
FEOLE $10,000{FO#E $10,000
FOH $5,000[HO %% $10,000
SOHE $5.000[z=0%% $1,000
Jitti O Fii $10,000|E= OFF $10,000
HO= $3,000|ER O $100
ZF O $10,000/EOfa $100
O’ $10,000|EBO=E $100
LO%H $50,000|EOf= $100
FEOM X $3,000|E O $100
ST A E $20,000{2£ O $100
O $1,000,000|EF O $100
BO $500,000{z= OF% $100
2O $200[=O# $100
ZOE $200[=OE $100
sTOFF $200[EFOA $500
2O $200[=OIIH $500
s OF $200[BBOEE $10,000
MO ER $200[ = Ol $1,000
F O $200|HOH $5,000
FROH $200[FOH $500
fTOF $1,000{=OFE $500
F O $10,000[faf OF $250
BOLGED) $300,000{ZF OB $100
BROZD $500[ZF OB $500
FORGE) $800|FHOZK $2,000
SO $10,000|#Of= $3,000
RO $1.000[z=OFk $200
=0 $1,000|21O% $1,000
BROM $1,000)E=OE $215
s O $1,000)ZOHH $3,000
BROEE $200[7%O1F $2,500




MEEANSETRAIDFEHEENESE
OB E (TEEMR : BEFRE ARETL)

B k< EH i izl S|
sFOfR $150|BIOF $2,500
SO $150|MROE $10,000
ROE $1,000{% O% $1,200
TROE $10,000]| & O#E $1,200
RO $10,000|E O $10,000
RO $1,000|HOZ $1,200
=O $1,000[5E O $500
RO $1,000|BEOZ®HD $1,000,000
O $10,000[L2 O $3,000
@) $10,000|#£O $10,000
BN OB $10,000[fF2 O $5,000
O $10,000|FH OIIE $1,000
OB $10,000[5EO1& $1,000
HOH $10,000{BEOHI $10,000
HO $20,000|#5 O $5,000
O $10,000[ 52O = $5,000
i OF $10,000[F OB $10,000
O $10,000|FEO4 $1,000
O $10,000| RO $1,000
HOE $10,000[{BE O $30,000
HEOHE $10,000| FOHE. $1,000
HO&H $10,000)5x Ok $500
O $10,000|EEOZE () $2,000
FOL $10,000|EEOZE () $100,000
@)= $10,000{ 5O $1,000
2OFE $10,000[L2OFE $1,000
MOFE $1,000|FHO $1,000
EZREfE $20,000|52O#E $300
EE e $10,000[5EOIIE $300
BOZ $10,000[5EO= $200
2OE $10,000[5ROE $200
mOE $1,000| = OB $500
T ORE $LO0O|ZEOHEH $1,000
HOFE $1,000|8 OHFF $2,000
ROER $500EOFE $100
HOE $200[ALOFE $200
SO $500[#k O $100
O $500[#k O $200
O $100[OH $100
BOEFH $4,000[£OzH $100
2Ok $10,0004O 8 $100
HFOE $10,000[;O% $100
BOE $10,000|EFO E &% $3,000
PO EE $10,000{AsOey Lynn $2,000
FOHE $10,000| IO $1,000
O $10,000[5E Ok $3,000
=0%F $500| 2O $2,000
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Z0E $10,000[FEOfH $1,500
FO= $50,000[FEOE $1,500
FOJH $50,000[ZFOH $1,000
2O $1,000[ O¥ $1,200
BOZ $10,000[% O'E $1,200
HORE $10,000| % O $1,200
MORE $1,200{ OE $1,200
RO#E $5,000| & Ot $1,200
EROFRE $10,000]#5OH $1,000
BO&ER $10,000{ = OF% $2,000
BFOEE $6,000| RO E $10,000
RO%*E $1,000[=OIIE $10,000
ZOlk $1,000|=HOE $2,100
i O%E $200[=O%F $1,000
s OlifE $200[=O%F $2,000
BROFE $200[=O%F $3,000
BROE $200[=O%F $306,051
EOF $200[{A EE A\ Sl eSS $50,000
EOTF $200[F & im L EEE (&db) $100,000
=0 $100|#hiEEZERS $5,000
EOE $100[BROZE $100
ERA@LS $100[FH O $200
FOLu $1,200 (g Ot $200
FOFEX $1,200[fROF5 $200
ZLOR $600| PO $200
KOE $100);F Ol $200
BRO®E $100FOF $200
= O $100| = O $200
HOH $1,000|{E=OE $200
HROA $600[FE OB $200
O $600[[HOF $200
EROLY $600[BFO&F $200
7HOH $1,200[EXO4 $300
B Ok $10,000|FH O $1,000
=O/ $10,000|H O & $1,600
=OR $10,000{EX O EAE $300
KO&AE $10,000| 21O $1,000
MO EH $10,000{ZIO$K $2,000
TO% $50,000(ZIO$K $7,000
RO $5,000[=HOE $10,000
LS| $5,000|FE Ol $10,000
JHO#ES $10,000|BE O JE $2,000
BOE $10,000|1#£O $1,000
FHOBE $500(2IO $2,000
E10) $3,000|125OF5 $500
KORF $2,000| = O%8 $2,000
=OBZR $5,000{ &= O $1,000
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FOME $10,000[BROF- $1,000
BOB&T $2,220|BR O $1,000
£ O $2,000|BE O $1,000
HOE $1,000| = OFx $1,000
=OF $10,000[#RO= $1,000
= ORE $10,000)TOIK $1,000
FOHE $10,000)BR OfF: $1,000
PR O’ $1.000{FROZE $1,000
HO $400[F1OLL $1,000
TOE $600|E=OH $1,000
EHOE $1.500[ZFO @0 $1,000
O $250[EEOF $100,000
FHOEF $250[F O $500
HORF $1,000| Pk O%F $1,000
RO $1.200[F=OF $1,000
O $800[##EO%k $30,000
H O $400[FH OHH $1,000
TOH $600[FHO=E $1,000
£0i% $6.000[F O $800
FZ Ol $600[FH O $400
PO $5.000[Z£ O34 $10,000
AROR $600| EOZE $50,000
BOEGE) $20,000{#F O $5,000
HOL $10.000/ O E {0 $10,000
EHOME $1,500[ O Fk $5,000
FO75 $4,000) 5= OFP $600
BOFE $1,000]#xO $600
RO $1,000{ O FaTEAfS $10,000
HOZ $7,000[#%0OC $1,000
HO= $1,000{ = OF $250
RO $2,000[HEO= $30,000
HO®E $2,000|FO% $1,000
HO®E $5.000[ZFOZ# $1,000
wHOF R $1.000(t5O= $2,000
=HOK $1.000(#O= $2,000
HOH $1.000[5ROA $3,300
MO $1.000[z=OF5 5 $1,000
MOz $1,000|=0OE $1,000
MOPE $1.000(#OF $1,000
s O $500[HO=2 $1,000
e O $500[RO%E $1,000
sHOH $500[#FOF $1,000
FORL $5.000)#EO% $2,000
OB $1,000)iF OBt $6,000
BEOR $1,000|#EO &S $1,000
HOFE $2,000/FOE $1,000
MO $2,000{ 5= O $1,000
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MHOFER $2,000{ AR O=F $9.,400
RO $1,000) F Off $200
RO $500|E= O $1,000
£ Of& $100|#E O $2,000
s OIIE $10,000[FROE XY $30,000
ZOIE $10,000)#£ O $100,000
i OHE $1.000|E=OF $5.015
#x O $1,000| &k O ERFEZE $600
#x O $10,000|Ek OFE £ $500
ZF Ol $100[R O $500
Z Ol $200[BROAK $1,000
Z Ot $100[BR O $200
FOE $200{# OO0 $1,000
RO $100[F OBk $1,000
RO $200[5T O $1,000
FOlE $100[F Oz $10,000
FOlE $200EFOF $10,000
e O $1,000)5FOF $10,000
FHOME $100|PBEOEE $10,000
R OHE $100[5FO $10,000
HOR $1,000|E= Ot $1,000
BHO#S $1.000[z=OTX $1,000
OB $10,000)ZF Ok $1,000
= Ot $1,000{FEORHE $1,000
FOHRE $2,000{#AO*F $1,000
EOEL $1,000{ POk $1,000
FOZE $5.000[{LO= $1,000
=0T $10,000|5 Ok $1,000
BrO= $10,000[ZFOHt $1,000
BOZE $10,000[BE O $1,000
=ROFE $6,000) &= O1& $200
ROZEER $6.000|E=O1E $200
OB HD $20,000{21OFE $200
BHOH $10,000[F=O%& $200
+OH $10,000 = Ot $200
EOE $10,000|z=O& $200
O $10,0005F O $200
HEOXL $800[EFOIE $200
g OE $1,000) &= O $200
BEORED $10,000{B8 Ot $200
RO $3.000[ZF O $1,000
FORGE) $800[FEEOFEED) $50,000
BRO% $1,000[ O F%k $3.000
PO $100[BROf $1,200
BOST $500[EE O & 5= $10,000
FEOLE $1,000)3# O4F $2,000
PROFR $100,000[#E O3 $2,000
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O $1.000[FRCO $1,200
PROZE $1,000{FEO1E $10,000
O $3.000| O $10,000
s O $500[#FOEE $2,000
s O $500 R O $5.000
w=OM $500[2OF5 $600
OB $500[FEO= $500
[ O= $500[EHOH $300
£0Nark $2,000{EO* $300
SOsE $10,000] = O $250
RO $1.000[FROFE $500
#FOE $1,000| A O== $500
#HO $50,000] kO $1,200
FOH $50,000| 21O F= $500
#OT $50,000|E= O $1,200
HEORIL $50,000]F Ot $1,200
= O $10,000{58 O+ $5,000
BRO#% $1.000{EOH $500
SO $5.000|20 $500
=0= $50,000| = OE $10,000
FOE $2,000| PO L $500
FOE $20,000[BEOFH $10,000
BOMH $10,000|1# 0O $1,000
HOF R $10,000|ZF Ok $10,000
AEOE $250|58COMH $1,200
=05 $100[5F O $1,200
g OB $100|7EOE $1,200
ZOR $100[FL O 1% $600
PROIE $100|#7OE $600
fiti OF $100[#AO7H $600
BROE $150[BROHK $600
£0 $100[E O $600
i O $1,000{EEO $10,000
FOE $250[FR O $50,000
Z#0 $100[ 2 O#HE $2,000
fFOT $200[ZFO K $1,000
RO $300[FR O $1,000
RO $10,000|1#-0O% $1,000
ROSHE $300[5=OHE $2,000
FEOHE $100|F O $1,200
SOt $300[FFOZ $1,000
RO $10,000)ZEOF F2 $500
RO $500[#FOF= $500
BROME $500[#FOF= $500
EOHE $100[BR O $100
O $100|# O $2,000
sHOP $100| BB O $5,000
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B O (#0) $200| £ O fii $5.000
RO $600[#O $1,000
HOHE $100[#EO15 $200
PO $100 OFZF $10,000
O $500)HE O $1,000
POt $100[EEOR $500
w3 $100[E O $200
BOH $100|7EOH $2,000
OB $100[FO $1,000
H O $600 | OHE#D $1,515
O $1.000{FBOHF $1,000
2OE $5.000FOH $1,000
T ORI $1,000|Ef O $2,000
FOEH $1.000[=O $5,000
BROH $100[=O $5,000
BRORL $100[HOJE $1,500
TOHk $150[FIOFK $10,000
ROz $150[E OFF(H0 $1,000
BROZ $150[FO7D $5,000
BROH $250[;TOE $2,000
BROFH $100[FH O $333
PRO e $100[fAI O $333
FOH $100|E O $334
OB $100|H OFE $10,000
AEOFEH $250[FIOH $1,000
i OTE $100[=O%+ $200
fitt O=L $100[=0O%+ $300
LO= $100[=O#h $3,000
O $100|H O $1,000
g O $100[&£ O $1,000
g OB $100[2OH $600
qOE $100[#:O3L $1,000
FOZ $100|% O $1,000
PROZ $100| 3 O $1,200
e O $100[ kO $10,000
SO $300| &L fhFoeEtt $60,000
HOEE $300 - E 4w 2 EEE (510 $10.200
s Offi $100[ {18 =T $600.,000
sTOf2 $100)7 =T $100,000
BOT- $100| HFRE H AR E] $1,000
EHOH $100[7F== $2,000
sHO# $100[#F O $3.600
ZOREH $100[ROE1E $2,000
PBROFK $100)7ETCSF $10,000
RO $100| 14 B SRR A IR /A H] $100,000
BROBA $100]EF5F $200,000
@) $100[&k O1E $5,000
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BROH $100|2 O $2,000
BROME $100[# OfZ $1,000
BROE $100[{TOHE $1,000
BROZ $100[HEOF5 $1,000
BROE $100[FROEE $200
BROHH $100[5TO1& $150
BROLY $100[ETOE $150
+O= $600|BEOF5 $1,000
O $600FH Otk $1,200
HORX $600[ = OFF $200
RO $500[EFOHE $500
BOE $1,000) i O $300
FEOFEED $600[FR O1& $600
HO4 $200) = O3 $10,000
BRO#E $10,000{EFO4E $10,000
FHO% $10,000] F O %% $6,000
FRO®E $10,000|#kO%5 $2,000
HROZE $10,000[FRO R $200
RO%E $10,000| 5O $300
RO $10,000| £O&; $1,000
TO& $3,000[#OF5HE $1,000
RO $500[#F O $500
H O 57 $3,000) 5% O1& $5.000
i O $1.000(EF O $100
HOZ $3,000) % O $100
i O $3.000[FROEE $1,000
HOSE $5.000)5FOFK $1,000
sTORK $200| RO EER $500
PMOTR $200|BRO 2 $500
2IO& $100[HEOF $1,000
BROZZ $100[ & Otfg $500
PROR, $1,200[AOZk $500
PROJE $1.200| 2Ot $500
BROH $1,2001 O % $500
PROIE $1,200[) O $1,000
BRO#E $1.200|1 O $300
RO $1.200[EEOF $94,000
PO $100[BRO1a $1,000
O $200[BR OF= $1,000
FAOL $500[F=O% $500
AOE $500] &= O $10,000
2104 $1.000[FF O $1,000
RO $1.000[FF O $1,000
ROZ $500[5FOH $1,000
£O $2,000( PO $2,000
=HOE $1,000)5F Ok $1,000
B OMf $1.000[$k O $200
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BOZE $1,000|5F O $2,000
BOE $500[t5O 4k $1,000
AEONE $1,000)52 O $200
BOZ= $50,000| FO¥7 $300
HOF $300|EEOFE $500
=50 $5.000)B O $300
L0/ $20,000) B OBH $300
MOE $5.000[ EOEH $300
KO $7.000[FFOH $100
HOME $7.000) 5 O %% $200
it O el $10,000|= Ok $100
O $1,200) B O iy $200
it O $1,000| O $100
BOH $10,000| 5= Ok $100
ZFOE $1,000[ =tk S $2,000
FO%E $1,000| 2877 5F $1,000,000
FOE $2,00075+52 5 Lo R S5 (B3 $4.,550
MHOE $500[ KR & $1,000
O $2.000 |47 f>FE 1 $1,000
HOE $1.000| 287 SF (S (E—[E] $20,000
BROEE $10,000[FO $2,000
PROZE $10,000| EOF $100
BROZR $5,000{ AL Ot $1,000
HOtEbT $10,000)4EO 5 $1,100
2OT $10,000[FFO%E $100
=HOEE $10,000{F=OFE $1,000
F O $20,000|Z&p5#E8 A $2,000
BROE $10,0004#£0O 5 $2,000
O $10,000]|5£O1E $10,000
PO $1.000{Z£ O $500
MOBER $5.000[Z£O¥E $500
WO $5,000{EO>L $500
g O%E $1,000)22 O A $500
s Ok $1,000)5FO $400
O $1.000[FFOF $200
#O $1,000[zFOE $200
=OhE $1,000[5FO %k $200
=0 $1,000|5FOF $200
BROM $1.000[EOF& $200
HO $1.000[FFOF $200
HOHE $8.000|5FO#E $200
ROEL $1,000)FrORfK $200
HOH $2,000|PEOFE $10,000
PROR, $2,500[ RO LEHK $2,000
RO $750[EAO i $10,000
RO% $750[#O5] $100,000
O $1.,200] B OZ= (0 $200,000
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FOFH $10,000{58OIE $100
T Ot $10,000|#HOZ $500
EOR $100[FEOE $1,200
EOZL $10,000[= OAfft $500
BEORE $5.000(#F O $10,000
JTOXK $5.000)122 O $10,000
EOE $1.000(# Ok $10,000
BROIE] $5.000(EFO== $10,000
SROVH $4.500| #l O $10,000
RO $4.500| s O $10,000
FRO®E $4,500[2O4: $500
RO $4,500|E= Ot $500
PROZE $4,500| =O %+ $1,500
BRO $4.500| = O Bk $5,000
21016 $4,500{ZFOIlIF $2,000
RO $4,500{ 2Ol $5.000
BRO1E $4,500[ZEO-F $1,000
BROAT $4.,500[HEOHE $10,000
RO $8.000|122 O $300
BOH $200[BROZK $3,000
BOF $200 2= Opelf: $5,000
BOF $500[fifi OF5%= $5.000
PO $300[E= O &% $2,000
MORE $500[7OF $200
O $500[AR OB $10,000
O $1.000|210# $10,000
O $500|F2 O $10,000
A O $500[#F O $100
HO%# $500[FHOE $100
FO% $500[#F Ok $100
B OM# $500[#FOfE $100
HOE $500[#F O $100
RO $200[PFOMEEFK $600
B O $100[#F O $200
RO $100[m= O $200
ROfH $100[HO& $300
JBEOH $500[B O $1,000
BROZ $100|Z£OAIfE $100
BOE $100[EFO#h $2,000
BROE $100[ZEO % $1,000
BROE $100[#FOFfL $100
BROTE $100[#F# O $100
BIOHE $100[7R O $100
BONE $100[2£O $100
PROZE $300[ZZOM $100
FIOH $300|ZZOE $100
BRO# $200[21OF= $100
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ROR, $100[3E O $2,000
HROH $200)5&OL $100,000
OB $100/)TOR $500
BROE $100[F=OPFE $10,000
§TOH $300|50O 2 $300
FHOsm $1.000[#HOZ& $10,000
= OAl $200[ZF O+ $3,000
BRO Mk $500|FROBEEH $500
PO $100[20O¥ $1,000
BOZ) $100|BROHlI % $2,000
LOR $100[f2O A $300
A O $1,500|#OEE $500
s Offg $1,500[EO%H $500
BROZ $100[FFO%k $500
BROM $100[ RO $500
MO $3.00017 O $200
GOk $200[7k O $200
0O $2.000 & Ot R $1,000
£0% $200[&F OTE $1,000
£O% $100| = OfE#k $1,000
#OIE $100[#1OZL $2,000
BROE $100|HEOE $1,000
AE O $200[B O $5,000
O $300|BEOEFIH $20,000
F O $5000FOH $20,000
ESO); (9] $1,000[FROF $500
BRO®E $1.000[Z2 O $1,000
£OF $1,000)BEO $1,000
i OFE $10,000[=O#k $500
BROATEH: $2,500[#RO= $500
BEO¥ $1,200|EXO & $1,000
HOE $1,200[ K EEFR LITREEST $200.,000
Oz $2,000[#£O5H $2,000
+O#AE $100|BEROEE $10,000
28 A $2,000|PEOFE $5,000
PRE e $1.000,000[FO= $10,000
RO $2,000|&£ O $100
PO $100[Ek O $100
BOST $500| &k O 25 $100
BOME $10,000/ O $400
O $500|#£ O $1,000
O $500]HO& $400
ZOMED $1.500|#OE $400
SO $800[HOZY $5.000
—0O% T $30,000) B O $1,000
=0% T $30,000| RO $500
BEOEHED $100,000{=Ol% $1,000
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20+ $10,000[BRO# $1,000
HOFEE $10,000{ O $1,000
BROM $10,0001Z£0O $1,000
RO $10,000|ZF Ot $1,000
O $5.000) A O Ht $1,000
BORE $10,000[HON $500
HOZ $10,000{BROME $1,000
A OJE $1.000[HEOF= $100
BROE $100[HEOHIL $100
ROXK $5,000|FOH $100
HOZE $5.000|1 P OF& $500
£0% $200|1%FO $2,000
ZOAt $200|EO%x $1,000
£ZOE $2,000|tROHT $125
PROEED $10,000| O $125
O $10,000{ RO $125
sTO# $10,000{t5OEE $125
sTORL $10,000[FO%F $100
ffOBR $10,000[2LOHE $1,000
BROE! $10,000|F O $300
MO $10,000[EO ke $300
RO $10,000{E=OFx $200
BROM $2,250|BR O $100
MO $2,250|#OtG $170
%0 $1,000[EF O£ $300
PROZ $1,000{FEO%F $10,000
BOH $10,000EEO%E $1,000
PO $10,000{FROZ%k $500
O $40,000)#£ O7K $10,000
sTOMR $1,000)5TF O $10,000
SOEE $300[t5 O $10,000
BO’ $1,200|H# ORA $1,000
BOF7HE $1.200{BBO I $500
AL OB TH $1.200{BBOE $500
EOER $1,200|58 ORk $500
EO® $1,200) 5% O%H $500
FRO®E $100[BROHE $215
RO $100|2O= $1,000
it O% $500/ 52 Oi% $1,000
sTO%E $500[F OB $1,000
MORES $100| SO $1,000
BO% $500,000|F#H OFF $1,000
FOXE $10,000|ABOH $500
FOxE $10,000{ IO $100
FOF $5.000)2FOK $600
T O $10,000|ZFOFKH $600
EOT $3.000]1#k O3 $2,000
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O $5.000) PO T2k $1,000
RO $2,020|HOH $5,000
O $100|Z2OREZ $200
=OE $1,000|122O%E $50
= ONRF $1.000[FEOFF $1,000
BOZ= $1.000|F O $5,000
BEOH $1,000)5 O %= $10,000
PRO%F $1,000[2FOE $10,000
RO& $2,000[ O f&% $20,000
BROTE $600[#ROFN $100
A O P 57, $50,000|F OF5 $5,000
HOZ $1,000|FFOE $1,000
B OH $2,000)iF OXE $100
Al OFE $1,000(F O, $500
HOFH $1,000|ZBOHM $6,000
BO#E $600| EORL $500
FOZ= $1,200|5E O $1,000
TOEE $500[##O= $3,000
£0 $600[5= Ozt $1,000
ROZE $600[#5O% $2,000
s O $1,200{#5O# $3,000
PO $2,000|## O $500
BROE $5.000) B Ol $500
OB $1,000[ w5 R A RN E] $10,000
HO&E $2,000{ T O3F $5,000
MOFER $2,000)&£O $100.,000
RO $1.000[F=OF $1,000
i O $500| FOFEE $2,000
BHOES $1,000) PO $5,000
i@ $1.200[HEO= $30,000
O $30,000[F=HOFH $1,000
= Ol $10,000|=0OE $1,000
FOE $5,000[#OH $1,000
FOIE $600[HO=2 $1,000
MO $30,000|1 PO % $1,000
BEOE $10,000[/FOE $1,000
FOHk $1,200(z= Ot $1,000
O $1,000{}iti OF5 $1,000
RKORE, $1.000|F O $5,000
RO 8L $10,000|F#H O $3,000
=OE $10,000| & O $2,000
BROEETR $600[ O $200
RO $10,000(OL $500
AHEOE $250[HEO%) $500
OB $100[HEOH $500
AEOZE $1.000[Z=OA1E $500
EAOLEES $100[HEO#E $500
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ZOR $100[HEO=E $500
BROIE $100[f7O H $3,000
fi OF $100[ZFOHHD $10,000
sHORH $1,000[2£O% $10,000
FOLT $1,200|12F O3 $10,000
BROE $150[ROFE $50,000
H O $1,000[FROF5EE $800
FOFE $250|F Ot $1,000
RO $1.200[=O%E $1,000
Z#0O $100|E=OHF $1,000
iTOTF $200[EEOF $1,000
RO $300|2IOZFE $1,000
HOHE $100[#8OH $1,000
SOt $3007OH $1,000
RO $500| =05+ $100
BROME $500[=OE, $215
EOHE $100(21OF5 $500
Ok $100[F=OZ $1,000
B O] (#0) $200|F=OR, $500
RO $3.000[2£O& $1,000
FOHE $100|# O£ $2,000
sHONE $1.000[EO%E $500
BROZ $100[E= O $1,015
AEO8% $500[=O £y $500
RO® $300|BEO IR EF $500
FRO#E $400| PO $1,500
H=O $300|5=O % $2,000
BRO%E $600[ i O $200
POt $100[E=OPFR $200
w3 $100[FR O $100
BIOH $100[#FH O $200
OB $100| = O% $6,000
O $1,000|/FHOE $3,000
ROE $5.000 (PR OF% $1,000
HO%E $5,000[#OF $1,000
ORI $1.000(#O= $1,000
FOEH $1.000[FROZE $1,000
FOHE $150|MOE $1,000
PROZE $150[FRO#h $1,000
BROZ $150[7k O $1,000
BROH $250[= Ol $1,000
AEOFE $250|2£ O $500
fitt O 1 $100|F O $1,000
fitt O>L $100[5OH $100
LO= $100|AO%2 $1,000
O $100[F O $500
g O $100)| O $1,000
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g O/ $100[FOH $5,000
2OZ $100| 5O LR $5.000
FOZ $100|% O $1,000
FRO®E $100[ T OF $5.000
s O $100[BB O $600
SO $300[/ROfE $1,200
HOEE $300[#EOFE $1,200
s Offi $100[FH OBk $600
sTOf2 $100[ZFOHD $1,200
ZOREH $100[7R O $100
BROEK $100| EOT $2,000
BROE $100[Z£O%& $2,000
BRO B $1002 O $200
@) $100[#FO= $500
BROH $100[3# O $1,000
EROME $100 ]3O H! $500
PROE $100| = O $2,200
FROZ $100[#O%E $100
BROE $100[#AOHIL $100
BROHH $100[#OF $100
BROLT $100[#F O $100
RO $500[EO# $100
BO#E $1,000[Z£O%5 $10,000
FEOFEEHD $600[ O % $10,000
HOZZE $200[ZZ O $10,000
BROF $700[=O $30,000
RKOT- $2,000|ZEOF &5 $50
SO $600|HO = H A $50
ROZE $2,000) FH ORI $# $300
TO& $1,000[ZFO EE) $1,000
sTORK $200[=OF $5.015
PMOTR $200[Ex O EERIZ $600
2IO& $100[BR O $2,000
BROZZ $100[ & O $300
PO $100[ OB $500
O $200[ZF O $2,000
FOE $10,000{ZIO¢ $30,000
sHOE $500[ZROHF $1,000
TO%% $500[BR O $500
FO% $500[FLOMERK $50
TOH $500|HO S EH $50
TO% $500[ =0 %+ $300
FO*E $6,000{ =0+ $500
FOR $2,000{ =0+ $3.000
BOE $1,200)3£O $1,000
FO $5.000{ =0+ $50
BOIE $600] 7= A SE AR E] $1,000
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FOF $5,000[£50O%E $200
MOELH $10,000|EH O % $500
BOE $10,000[FHO2KE $1,000
=OF $1,000[(EO¥ $10,000
BOE @) $100,000[5 O $1,000
FOH $1,000[FOE #0 $10,000
HOZE $5,000[EHOE $500
FOE $10,000| O $1,000
HEOHM $4,000{F0O% $1,000
SO%W $300,000|5& Offi $1,000
SO $2,000[5E OFEHE $3,000
EOh $500[ OF5 $1,000
=HOFFE $1,000[ RO D) $3,000
=OE $1,000{Z=0ORk $1,000
HOH $1,0007E O $2,000
HOZ $1,000[F2OH $10,000
Oz $1,000[ =0T $2,000
MO $1,000| =0T $5,000
BOE $1,000| =0T $5,000
MO $2,000[5RO%% $3,000
= OHf $1,000[8#OF $5,000
BOE $2,000[ &k O] $2,000
SO $500( B OB $1,000
O $10,000[5/EOEZE $2,000
FFOHk $1,000FO% $1,000
BOE $8,000[#OF% $1,000
O/ $500(EE g $2,000
HOER $500[5iE O $250
EOFA $500[FE O $100
BRO $2,000( % OBHHE $100
EOE $5,000| OB $100
FOE $5,000[FEOIE $100
BEOREED $3,000[EOF $100
2101 $1,000[BROZE $10,000
EOER $1,000(BEOE $150
EXO# $1,000[25OH $200
ZIOF A $1,000[E#H O% $1,000
EOF $500[Z=O%E $500
EOF $500[Z2O $100
FEOF $1,000[5FO T $200
FOF $1,000[5FEO% $300
O $1,000[iROEFH $300
FO% $1,000[FEOHE $100
FEOF $1,000[Z=Z O $300
FOFE $1,000(fE O $500
FFOTH $10,000 (B O %k $500
FEOH $10,000[FEOZ& $100
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i O7K $10,000[ARO7 $100,000
BEOH $10,000 O $100
fitt OF $10,000|FEOFE $100
HOH: $10,000[EHOFT $100
O $10,000{ &= O (#7) $200
SOt $10,000| 2O $2,000
MO E $10,000[FEO1H $1,000
2OE=E $10,000) OPBel s $30,000
21O $10,000|EO& $100
A O& $10,000[BEO# $100
HOTR $10,000OF% $500
= O/ $10,000[7ROZEEE $100
g O%E $1,000{ kO] $100
FHOW $6,000|EO=L $100
Oy $10,000{ZIO% $100
FZ OB $50,000[F=O¥E $100
Z0 $1,000|EBOF $1,000
BOLC $20,000[BROFAGHD $20,000
HEORK $600[FROEIE $20,000
BEO® $100,000| 2O $5,000
EEORGED $100,000|EFO=E $5,000
HOF $2,000| EO*I $1,000
70 $600[ EO KR $1,000
w0 $300[BROEH $200
w= O $300]FH Ok $200
BOHE $100,000] O $150
BROLL $3,000) B O % $150
FROWED) $10,000{BR OZ $150
H OB $10,000{BR Ot $500
HOE $10,000) s O #5 $200
HOFE $100,000 R O%je $200
BOTE $100|HOF $200
BIOKE $1,000|185O%EL $200
FOE $1.000);EOF2 $250
FO%E $1,000) i O $100
£0iE $500[tEOL $100
HOFZ $500[40O= $100
EOK $1,000{50CO %) $100
#EO $10,000) & Of¥ $100
BROF $1,000( % O $100
BOANE $1,000|8 OF $100
EOR $1.000[FEOZ% $100
ROE $400[FR O $100
WOEL: $500[=O#h $100
FEOEY $1,000|Z O $300
HOESE $5.000|EF O $300
1O $5.000]5F O $100
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MHORE $6,000|5TOfZ $100
HROF $5.000|1#OF $100
MO L $5.000|EHO%E $100
BOR $10,000[EHO$ $100
BOE $10,0001Z=OREH $100
BROTE $500[BROFK $100
PO $4.000|EEOZ $100
O] $1.000[FR OB $100
pe O $1,200|EF O $100
e O% $1,200)BEO%H $100
FEOLE $5.000|EEOt& $100
BROSE $10,000|BR O $100
FROE @D $10,000[FRO 2 $100
E= O 2 $10,000[BROE $100
PROZH $10,000 B O $100
BEO $10,000|BR O%F $100
RO $10,000| 5O $500
FOkE $10,000|EOH $1,000
PrO5A $10,000[FEO = () $600
PO $10,000| KO+~ $1,000
BIOHH $10,000| O~ $5,000
RO $10,000{#O= $2,000
O $10,000[5RO% $1,000
OB $10,000|5£O1= $1,000
HO&E $10,000| FO% $1,000
#EOIRA $10,000|5FORk $200
=0% T $500[#F O $200
FOHL $300[FIOf% $100
FORGE) $800|BROZ $100
FOH $10,000| PR O $100
FO&te $10,000)HO% $200
ZF Ot $10,000[#5OF $50,000
5 O $10,000| EOF $100
s O $1.000{EOH $1,000
ROH $500[ EOFH $1,000
s O $2,000[EO# $1,000
BROM $1.000[EO# $1,000
s O $1.000|1tRO=F $2,000
AROH $1.000{5O%F $1,200
BROT $5.000 O & $100
FOBEHD $1,000{FE ORI $100
BRO®E $1.000H:O%5 $100
£Z075T $500[5=O%& $100
= O $10,000{5EOH $100
FEO $10,000[5ROFE $100
HOE $10,000[5R O%f $100
OB, $1.000[=O% $100
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ROAE $1.000|1#0OF $100
2tEE $2,000|BHO2 $100
iy $32,930|ROE $100
O)- | $200|5=OH $100
ROZ $500[7ROZ $100
HOH $200[5TO%E $100
O $200[#IO $1,000
NOFF $1,500) O $10,000
BOB&T $14,664| PR O X $1,200
PBROFX $1,000)22 Ok $100
O $1.0004EOK, $100
SOFR $10,000| PR OEL $10,000
BROE $1,000)5=0O%z $1,000
RO $1,000| O $10,000
ROFAL $10,000) 7O $600
FO7t $1.000[FROfE $200,000
£0% $10,000|#HO# $10,000
FEOM X $3,000ZFOFRE $10,000
Z O $10,000[ZIO[ $10,000
=OR $10,000) & Off $10,000
BROBE $10,000[#RO F 2 $5,000
ZOR $10,000[FR OFLF- $5.500
O $10,000(z&RH 8 A $2,000
BOR $10,0005FO % $1,200
BOH $10,000| 21O $1,000
#O $1,000|21O4 $1,000
EORK $500 B Oy $200
NG $3.000|R0O= $500
RO $1.0004E O, $100
HOEE $5.000)# Ot $500
TO&E $100| O $500
sTOBR $4,000[5R O F $100
=0 $20,000[5FO% $300
SO $1,000|5TO%E $500
OB $10,000[EO5] $100,000
FrOFE $10,000[FR O $500
HOH $10,000| O $300
s T O $10,000)#kOFE E $500
O/ $10,000[#OAF $2,000
PrO¥H $3,500) B O $20,000
MOEE $3,500[BR OFER $500
HOZ) $3,000[B O£ $500
R8N $2,000|E Q% $10,000
201 $10,000| EOBE $10,000
BEO= $10,000O#F &5 $10,000
BO $5.000[#0 $2,000
O $100[FO $1,000
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2O $1,000) L OFF $1,000
O $500[BROJH $500
#ROMH $10,000| EOE $300
= O $3.000[FE O $1,000
fifi O $3.0003O & $1,000
HOE $3,000[f ] O $1,000
BROJEL $3,000[ O] $1,000
H OPlHZ $3,000) %O $500
HEOH $2,000{FBORd $1,000
FOXL $2,000) 2 Of $500
Ok $2,000[#5O 7% $200
FHOZE $2,000{52O5 $1,000
FO& $300[BROR $500
fi OfE $1,000|5=OH $500
FOZE $1,000) 22O $150
RO $5,000[(ZFOH $150
RO $5.000[ EOFH 1+ $200
FOTE $3.000[Er O $1,000
RO $10,000)/5 Ot $5,000
FOH $10,000| £ O% $5,000
#ROFE $1.200OE $14,000
FRO®E $100[FIOHk $1,000
ROBL $100fR O $1,000
it O% $500[ RO $3,000
sTOE $500[ 7RO, $500
SOH $10,000|z= O $10,000
FAOE $100|fs O $500
PROFE S $1,600{ O $5,000
FOEE $1.000{Z1OF $1,200
HOM $2,0001/F0O&E $1,200
Z O $500[BIOF $1,200
HOTE $500[;ZOM $100
FO% $300[{TOE $300
BOZ $2,000{ O $200
BO®E $6.000) 2 O’y $200
it O $1,000{ & O $100
Z0O $500[FRO= $100
#FOZR $500[ & O $100
FO=E $300[FROFE $500
HEOFY $500[s#E O $1,000
FOtH $2,000{FEO= $300
BROTE $1,000{FROEE $500
BRORE $500ZE O $500
HOE $1.000EOF $100
MOBGF $100[;%& O% $100
=0% T $20|122OfF $100
FOEZE $1,200] BB $200
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T O $600[#FOLE $200
PROE $150PTOf= $100
ZOH $100) 5 O $10,000
70 $100[E= O $300
iTOTF $200( 2O $1,000
RO $300 (B3 TT {Fh $100,000
ROBE $600|tE R ZE = $100,000
HOHE $100[tE R 2= $100,000
RO $1,000|&F Ok $500
=0 $20,000[z=OIIH $100
FEORE $100[=OH $100
sHOH $100(21O=: $500
T ORI $1.000[ZOAL $500
FEOEH $1,000{ZIOEE $200
BROE $100[&£ O $200
BRORL $100[B1O=E $200
TOHk $150[FRO 2 $200
PROZE $150[HOAEk $100
BROZZ $150| OB E 5 $100
BROFH $100[HOZ $100
PRO e $100[FE OB $100
FOH $100[HOEH $100
BOB $100|E O $100
BOT $100| £OL $1,200
EHOH $100[EOFH $1,200
EHOF $100[F=O%F $1,200
ZOREH $100[BEO=E $1,200
O $1,000[FOE $2,000
sTORL $200| FOE $1,200
PROZE $200| O 4% $1,200
2O $2,000[z=O%K $1,000
iTOZE $700[HO= $1,000
ROH8 $1.000) s OFH $2,000
FEO®E $1,000|5E & 1844 TR (AR E] | $400,000
BROE $500[F O @D $100
O $1,000(z O $1,000
SOt $600| 2 OFIE $500
BROE $600)| £ O $500
FOIE $5,000{ =04 $10,000
FOFE $2,000{ EO5 $500
FOIE $2,000{BAOHH $10,000
HOLE $200[2EOF4 $10,000
O $600[BEO 2 $10,000
MO $600|FOH $10,000
MHOZ $600|F OF] $4,000
gt O] $600[FFOF $10,000
O % $600[#OH $10,000
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O $200| RO By $10,000
= OB $600 | ORE $63,426
BHOAE $600[£5OFE $200
w0 $600[tH OBk L $3,000
F O $600[{TOHE $1,000
BROF $200)H£OF $1,000
PRO=E $200|3LOH $3,000
EOWM $200[FRO % $10,000
BOTE $200[ 5O $1,000
ZOFx $600|EE Ok $3,000
BIOA $600] T OZ3-4%] $10,000
=O%E $300) = Ot $10,000
O $300[ETOFx $10,000
HOZR $300[t7 O $10,000
#HOJI $600 | fs O $6.000
FO%HE $600[HEOE $10,000
RO $600[FOZ $10,000
ROH $600)FTO=L $10,000
BRO®& $200[EF O $5.000
OB $200[#E O $5,000
BOFk $600|Z£OFEA $10,000
AOE $600[#RO e $2,000
BEOFF $100[21O%k $2.000
RO=E $1,200| B O $2,000
PROKE $1,200( % O $2,000
HOE $1,200)22 O $6,000
BRO $1.200[#FOES $6,000
BRO $1.200[EOHE $6,000
BRO# $1.000|H1OA $1,200
FEOTHE $1.000|H1OA $10,000
BRO#% $1.000) B O % $10,000
TO&E $100|#k Ok $10,000
EOR $10,000|5OF $10,000
RO $10,000| I O%E $1,200
HIOF $1.200[f1O== $1,200
HO= $1,200|H1OBE $1,200

/et $37,282,701 /et $22,629,183

A

[

$59.911,884




